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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367569
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983679059 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given alternatives, select the word which CANNOT
be formed using the letters of the given word.

INDIGENOUS

Options:

1. * NODGE
2. v GROUND
3. = INDIGO
4. » GONE

Question Number : 1 Question Id : 9983679059 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a0 fawedt & @ ag oeg giav St fAw 1w ereg & ey
T AT Flh dal Fd—T ST ohdT ol

INDIGENOUS

Options:

1. = NODGE
2. v GROUND
3. = INDIGO
4. = GONE



Question Number : 2 Question Id : 9983679060 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

FAB, HDFL, ]G], 7, NMR

Options:

1. * MKO
2. » KIM
3.vLJN

4. = NLP

Question Number : 2 Question Id : 9983679060 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

FAB, HDF, JGJ, 7, NMR

Options:

1. = MKO
2. = KIM
3. v LIN
4. = NLP

Question Number : 3 Question Id : 9983679061 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

AKPL, DOSP, GSVT, 7, MABB



Options:

1. = LYAZ
2. % JUXW
3. » KXZY
4. v JWYX

Question Number : 3 Question Id : 9983679061 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

AKPL, DOSP, GSVT, ?, MABB

Options:

1. = LYAZ
2. » JUXW
3. = KXZY
4. v JWYX

Question Number : 4 Question Id : 9983679062 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. = Red

2. » Yellow
3. = White
4. v Colour

Question Number : 4 Question Id : 9983679062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT Ed UesT H BT 97 [&ereul & O TOYH 37&7T/3787T T
ToTT |

1. = ofTel
2. = drel
3. « Htha
4. v G

Question Number : 5 Question Id : 9983679063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. = MQU
2. = FJN

3. = DHL
4, v OSV

Question Number : 5 Question Id : 9983679063 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed ueeT # T 9w Gereul & O TaYH 37&87T/378T I
TalT |

1. = MQU
2. = FJN
3. = DHL
4, v O8V

Question Number : 6 Question Id : 9983679064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the odd pair from the given
alternatives.

Options:

1. = Rat : Rodent

2. = Crocodile : Reptile
3. = Pen : Stationery
4. v Colour : Red

Question Number : 6 Question Id : 9983679064 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d wa & R av fawvedl A @ QYA THg F 0|

Options:

1. = el @ e
2. = WINATS : WG9
3. % FolH : olEed HTHIAT

4. v T : T

Question Number : 7 Question Id : 9983679065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letters from the
given alternatives.

TRO : WUR :: MAK : ?
Options:

1. v PDN
2. QEO
3. = PCM
4. = NBL

Question Number : 7 Question Id : 9983679065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaatfafEe wear # fev a0 fawredl # & Hafad 3767 1 i)

TRO : WUR :: MAK : 7

Options:

1. v PDN
2. = QEO
3. = PCM
4. = NBL

Question Number : 8 Question Id : 9983679066 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related pair from the
given alternatives.

Animal : Elephant :: ?

Options:

1. = Car : Vehicle

2. » Vehicle : Road
3. v Gas : Nitrogen
4. = Gas : Pollution

Question Number : 8 Question Id : 9983679066 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wa & R aiv faswvedt # @ @afad dag S g0

STTelay ; gray o ?
Options:

1. = shIT : ATEd

2. = dlge : H3h



3. v &g : aATEge
4. = 3G : ggyor

Question Number : 9 Question Id : 9983679067 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related pair from the
given alternatives.

PINK : TMRO :: ?

Options:

1. v ROAM : VSEQ
2. % TRIP : XVMS

3. » HINT : LMSX
4. » GRAB : KVDF

Question Number : 9 Question Id : 9983679067 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wa & R aiv faswvedt # @ @afad dag S g0

PINK : TMRO :: 7?

Options:

1. v ROAM : VSEQ
2. = TRIP : XVMS
3. = HINT : LMSX
4. = GRAB : KVDF

Question Number : 10 Question Id : 9983679068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘PIG’ is written as ‘32, ‘GEM’ is
written as 25’. What is the code for ‘RIT’ in that code
language?

Options:

1. = 46
2. % 48
3. v 47
4. % 49

Question Number : 10 Question Id : 9983679068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tafese g AT H, ‘PIG’ 1 32’ TolEr AT &, ‘GEM’ =1
25’ forET ST &1 39 g AT H RIT &7 I AT &7

Options:

1. = 46
2. % 48
3. v 47
4. = 49

Question Number : 11 Question Id : 9983679069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘PRODIGYS’ Is written as
‘QTRHJIBW’. What is the code for ‘ROCKSTEM’ in that code
language?

Options:

1. v SQFOTVHQ
2. * TRGPUWIR
3. « SPENSUGP
4. » USHQVX]P



Question Number : 11 Question Id : 9983679069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T fafese g 9T #, ‘PRODIGYS’ s ‘QTRHJIBW formEm
ST &1 37 R AT # ‘ROCKSTEM’® =T g AT &7

Options:

1. v SQFOTVHQ
2. = TRGPUWIR
3. = SPENSUGP
4. = USHQVXJP

Question Number : 12 Question Id : 9983679070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘Red is Blue’ is written as ‘fa la na’,
‘Heavy is duty’ is written as ‘ka fm la’, ‘Blue are duty’ is
written as ‘fa ra fm’. What is the code for ‘are’ in that code
language?

Options:

1. = Ji
2. % ka
3.« l]a
4. vra

Question Number : 12 Question Id : 9983679070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tafese g AT A, ‘Red is Blue’ s fa la na’ @ SEar
g, ‘Heavy is duty’ & ‘ka fm la’ for@r SI1dar &, ‘Blue are duty’
HI fa ra fm’ ToI@T STAT &1 56 HIs AT H ‘are’ FT HIg F41

g7

Options:

1. = Ji




2. % ka
3. = |a
4. v ra

Question Number : 13 Question Id : 9983679071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five boys M, N, P, Rand T are standing in a row facing
towards north. M is third to the right to P. Two boys are
standing between R and N. T is between M and R.

How many boys are standing towards the right of T?

Options:

1. =1
2.2 0
3.3
4, v 2

Question Number : 13 Question Id : 9983679071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i @gk M, N, P, R 2T T Tk dfdd # 3ol #T 3 qF
ik T2 &l M, P & iy 3 deT &1 R dar N & #&9 ar
a5k WS &l T, M daT R & AT H g

T & it 3t fraer o= =2 &7

Options:

1. % 1
2. % 0
3. % 3



4. v 2

Question Number : 14 Question Id : 9983679072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six businessmen C, E, G, I, K and M are sitting around a
circular table facing towards the centre (Not necessarily in
the same order). C is second to the left of I. G is second to the
right of M. M and I are facing each other. E is to the
immediate left of M. Who is sitting to the immediate right of I?

Options:

1. = G
2.v K
3.5 C
4. % E

Question Number : 14 Question Id : 9983679072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bg: AMAT C, E, G, |, K d2T M T gedshl AT & 3¢-Flg
Fz HT 3T qI FF §S gU € (IR @@ K gl FwA A @)
C, I h W @ gT &l G, M & a8 3R T &1 M 21 | T
E@%ﬁmﬂaﬁyﬁ E, M & T o=l 3T &1 | &
T ERT 3N FleT Jor g &7

Options:

1. = G
2. v K
3. = C
4. = E

Question Number : 15 Question Id : 9983679073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Six switches R, D, B, S, L and P are placed in a row facing
towards North. R is placed between L and B. P is third to right
of R. § is placed to the left of L. Which switch is placed second
to the right of B?

Options:

1. = L
2.v P
3. D
4, % R

Question Number : 15 Question Id : 9983679073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Tl R, D, B, S, L @41 P &I 3ccX T 31 T Hh
Tk Uldhd H I@T 3T &1 R Y L 2T B & #<I & =T &l
P R&FTH A ITTEI S L & a=F 3T T@T I-T &1 hia
@1 fEaa B & I 3N g@EY TUTE W @M I-T 87

Options:

1. = L
2. v P
3. = D
4. = R

Question Number : 16 Question Id : 9983679074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Five shirts of different colours Red, Blue, Black, Yellow and
White are placed in a row facing towards North. Yellow shirt
is placed to the left to white shirt. Blue shirt is placed to the
right of Red shirt. Black shirt is placed second to the right of
yellow shirt. Red shirt occupies one of the end. Which shirt is
placed to the immidiate right of Blue shirt?

Options:

1. = Red

2. v Yellow
3. = White
4. » Black

Question Number : 16 Question Id : 9983679074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rafseer o1 oTar, s, ST, Well JAT e hT I FATST T
3cd¥ HT 3R 7AW Fh Uk Glbd H @1 3T g1 drell FaATsT i
e FAIST & TRIT T IE@T I=AT &1 ATell hATST T ollel HHI
& TRT 3T TE@T IR—AT &1 FTell FATST I Urell FATST & AT
A GEY TATT 9 T&T I-T &1 Aol FAlS Ush B W §1 sirel
AT & W ST 3R ThE FATST FT &M =T 87

Options:

1. = ofTel
2. v Ul
3. = Hhg
4, = STl

Question Number : 17 Question Id : 9983679075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Six swimmers D, F, H, ], L and N are sitting around a circular
table facing towards the centre (Not necessarily in the same
order). N is to the immediate right of H. D is second to the left
of F. ] is second to the right of N. F is second to the left of H.
Who is sitting second to the left of N?

Options:

1. % F
2.v L
3.« H
4. %]

Question Number : 17 Question Id : 9983679075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B&: e D, F H, J, L 927 N T el AT & 36-[1G

Fg BT 3T T FF IS gU E (ST A A oSE FwA A A
N, H & i aW 3k &1 D, F & &7 & q@r &1 J, N & @
IRV U B F, HF &0 & g@ T W & N F &0 3T
GE el ST 3T &7

Options:

1. = F
2. v L
3. = H
4. = D

Question Number : 18 Question Id : 9983679076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. Some red are yellow.
I1. All yellow are big.

Conclusions:
I. Some big are red.
I1. All red are big.

Options:

1. v Only conclusion I follows
2. * Only conclusion II follows
3. = Both conclusion I and II follows
4. = Neither conclusion follow

Question Number : 18 Question Id : 9983679076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

2o

. FT TS drel &I
I it drer 53 &
IGLE R

. G &3 oel &
I, @fr orer 53 &

1. v &ael fasehy | 3TeELor I ¢
2. = hadl fshy || 3HTEIOT FIAT |
3. = 2l TSRy | T || 3fefaor A §
4. = g AT TISRT AT oT&l AT &

Question Number : 19 Question Id : 9983679077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

I. All A are B.

II. Some C are B.
III. Some D are C.

Conclusions:
I. Some D are A.
II. All C are A.

Options:

1. = Only conclusion I follows
2. = Only conclusion II follows
3. = Both conclusion I and II follows
4. v Neither conclusion follow

Question Number : 19 Question Id : 9983679077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

e
. T A, B &1

|l B C, B gl
1. TS D, C &I
IGLC P

. F5 D, A .y

Il. T C, A Bl
Options:

1. % hdel oISy | 3TTETOT LAl -y

2. « shael folshy || 3eTE0T T |
3. « Gal TSRy | 2T || 3efaor wid g
4. v g AT TISRY AT oT&l AT &

Question Number : 20 Question Id : 9983679078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the odd one out from the given alternatives.

Options:

1. » 10-12
2. 14-16



3.« 17-19
4.v15-11

Question Number : 20 Question Id : 9983679078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fgreul & O RwH &1 gfav)

-

Options:

1. = 10 - 12
2. = 14 - 16
3. = 17 -19
4. v 15 - 11

Mental Ability2

Group Number : 2
Group Id : 998367398
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 998367404

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 998367570



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983679079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

2,7,22,67,7
Options:

1. = 203
2. % 199
3. v 202
4. % 200

Question Number : 21 Question Id : 9983679079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wea & &1 a8 J@er A @ ofcd 3F AT RS0

2, 7,22, 6/, 7

Options:

1. = 203
2. = 199
3. v 202
4. = 200

Question Number : 22 Question Id : 9983679080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related number from the
given alternatives.

9:80::14:7

Options:



1. = 197
2. % 198
3.+ 195
4. % 194

Question Number : 22 Question Id : 9983679080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foastfal@ yeat 7 v a1v fawvedl # & Hatad T&AT FT V|

Q:80:14:7
Options:

1. = 197
2. = 198
3. v 195
4. % 194

Question Number : 23 Question Id : 9983679081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related number group
from the given alternatives.

47 .28 07
Options:

1.+53:15
2. % 29:17
3.%31:4
4 % 67:44

Question Number : 23 Question Id : 9983679081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a wear & AU a0 fosedt # @ @afdT g&ar @Ag &
ToTT |

47 + 28 = 7

Options:

1. v 53 : 15
2. % 29 1 17
3. = 31 : 4
4. = 67 : 44

Question Number : 24 Question Id : 9983679082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging which two signs the equation will be
correct?

17x3-5+4=20

Options:

1. = +and -
2. % —and x
3.vxand +
4. = No change 1s required

Question Number : 24 Question Id : 9983679082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore a7 RIgal &7 398 A WER Sceled I AT Tar &l
STTTaTT?

17 x3-5+4=0

Options:



® + TAT -
% - g2 X
v X JdoTr +
« TREYT SICelTa hT 3TTeThdT ool &

Question Number : 25 Question Id : 9983679083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 910 & 37RT &l 3T H WER dcold W foeiroiad # &
FleT T FHROT FET BeT?

ol

6 dar 3

Options:

1.« 3 + 2+ 6 x5 =632
2. 3 x ] +2x6=63
3. » 5 x 3 +6+2="18
4. v 3 x 6 +4 + 2 =20

Question Number : 25 Question Id : 9983679083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging the given two digits which of the following
equation will be correct?

6and 3

Options:

1.#3+2+6x%x5=063/2
2.8 3x7+2x06=063
3.#53x3+6+2=18
4 v3xb+4+2=20



Question Number : 26 Question Id : 9983679084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark
(?) from the given alternatives.

3 7 7
6 4 5
2 3 3
30 60 ?

Options:

1. = 40

2. v 50

3. =70

4. = 90

Question Number : 26 Question Id : 9983679084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g 999 # @7 710 Goeat # § 797 oo (?) & T W 9+ areir §&T
H AT

3 7 7
6 4 5
2 8 3
30 |60 |7

Options:

1. = 40

2. v 50

3. = /0

4. = 90

Question Number : 27 Question Id : 9983679085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark
(?) from the given alternatives.

6 |36(| 3 (47|47

Options:

1.+ 116
2. % 126
3. = 138
4. % 146

Question Number : 27 Question Id : 9983679085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ 997 # T 71T Toear # ¥ 937 e (?) % T W A« areir §E&T
H AT

6361|3147 4|7

Options:

1. v 116
2. = 126
3. = 138
4. = 146

Question Number : 28 Question Id : 9983679086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘H’ means “+’, ‘M means *’, ‘.’ means ‘=’ and ‘N’ means -,
then which of the following equation is true?

Options:

1.*13HOG6N12L7M14 =5
2.« 5HOM3LZ2N4=11



3.v11HSLOMZ27NG=20
4« 3MA4HOB6L2ZNS=15

Question Number : 28 Question Id : 9983679086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE ‘H T 31T+, ‘M T AT %, L FwT T 2 gar ‘N FHT
MY “ L O ratalEa # @ Sid 91 GHRIOT e 87

Options:

1.« 1I3HG6N12L /7 M 14 =5
2. 5HO6MI3L2N4=1"1
3.v1THSLSOS M2/ N6 =20
4. » SM4HGB6L2NS=15

Question Number : 29 Question Id : 9983679087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If “+’ means %, " means “+’, > means <~ and x> means “+’,
then which of the following equation is true?

Options:

1.v14+11+3x16-8=-17
2.% 31 x17-29+87+13 =069
3.#56x11+3+33-11=9
4 % 27x3+31-4+16=94

Question Number : 29 Question Id : 9983679087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g+ T 3T X, 2 BT I w7, T W Y Y JAT X7
T ‘4 B, ar [Aearoliad ® & i 1 GHARIOT ol &7

Options:

1.v 14+ 11 +3x16-8=-17
2. % 31 x 17 - 29 + 87 + 13 = 69



3. » 6 x 11 + 3 + 33 - 11
4. = 27 x 3 + 31 -4 + 16

9
94

Question Number : 30 Question Id : 9983679088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Lawyers, Teachers, Father

Options:

QD

®

@D

Question Number : 30 Question Id : 9983679088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



98 3@ Ifv St o v 9w qeit & f F dey w5 o
fA® 0T T &l

gehrel, 3TegT9eR, TOdaT

Options:

)

&

@D

Question Number : 31 Question Id : 9983679089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Father, Brother, Mother

Options:



QDO

1.«
2. %

e3))
3. =

©0O
4. =

Question Number : 31 Question Id : 9983679089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3@ Ifav St & fow 7w gt & @i & dEy o
A ToT AT &

Orar, e, Aar

Options:

QDO




©0O

Question Number : 32 Question Id : 9983679090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cube can be formed?

O|®
O




Question Number : 32 Question Id : 9983679090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f@a & @ #i9 @1 o9 59 g&ar g7

Ool®
O

Options:

e @

o
L
&

B~
&

Question Number : 33 Question Id : 9983679091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A’ F AT §og ot Tef@ET # ¥ ST 3@ Hwen?

Options:



Question Number : 33 Question Id : 9983679091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will come on face opposite to *A’?

L

1.%@

2.« ©



Question Number : 34 Question Id : 9983679092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

Options:

1. = Di}
11

2. %

3. = —I_D

4, v i‘

Question Number : 34 Question Id : 9983679092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AFATTEg e A v a0 Aekedl & H QYA 31"’1?1?' R gf“ul

Options:




2. %
3. = _I_D
4, v i‘

Question Number : 35 Question Id : 9983679093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

Options:
® 1T
L] S
1. =
T @
7 S O
O e
s 71T

3.



4 =

Question Number : 35 Question Id : 9983679093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AFATTEg e A v a0 Aekedl & H QYA 31"’1?1?' R gf“ul

Options:
e 1
i3 S
1. =
+T @
2 % S O
O @
s T
3. v
S O
T @

Question Number : 36 Question Id : 9983679094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be placed at the sign of question mark (?)
from the given alternatives.

Options:



[ |
& L
1. =
A H
[ |
[ ] il
2.
v H
=
[ ] L
3. 0%
vV K
| |
[ ] L
4, =

Question Number : 36 Question Id : 9983679094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F=ofaT vea # w77 Twent & O vea ®eg () & T W 3 Jmeir
HTpTd T AT

Options:




Question Number : 37 Question Id : 9983679095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the question figure?

oA
ol ?
Options:
OlA
1. v
o\v
2. %




Question Number : 37 Question Id : 9983679095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pt Y el AP T2 APl & FART P G HLEN?

Options:

olv
2. %
Al o
3.
ol
4, =

Question Number : 38 Question Id : 9983679096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line AB, then which of the answer figure is the right mirror image of
the given figure?

A
R
F
i
E
Options:
#
F
1. % :
A
:i
\
2. v
R
E|
1
3. =
R
F
Y
4, =

Question Number : 38 Question Id : 9983679096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE T 9T FF AB Y@ T @ AT, A6 & 75 3eal il & & Hiad 6 3Mepi
W9 HH{a & Ter guur iy grie

'

Options:



H
F
1. = .
A
:l
LY
2.
R
:|
3. » :
R
F
Ay

Question Number : 39 Question Id : 9983679097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the question figure is hidden/embedded.

(—

N

Options:




3.

Question Number : 39 Question Id : 9983679097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& % 3ea} AP H ¥ 3H 3ec APl 1 v w7 wea sl @fga 22

—]
e ?

Options:




Question Number : 40 Question Id : 9983679098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened?

L e B

Options:

(=]
[=
o
B o

L=
|
0«
O <

1. ¢

[ 0
. Dt:-o
o

oql Upa

O >
0

-2
#
op

=]

oqlDpg
b o
O,

0 <]
o <
o <




==
==
o
[0

el
= |
o >
Q[

Question Number : 40 Question Id : 9983679098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= & W IHAAr A GWIT 3FaR FES # AlsH S T Wed F &g I
& 3 smpfa o e avm

[> O
[ O

e ﬁ

Options:

(=
[0
[0
0

o<
=R |
o«
Q<

1. ¢

B o
0, q
[

I:II:II::_n

N3
o<
o <]

Mo
b
o

o
[ o
=
LA

o
I::I-CJD L
=]
o <

[0
[0
=R
==

o<
=R
o L=
o >




General Awarenessl

Group Number : 3

Group Id: 998367399

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl1

Section Id : 998367405
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 998367571
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983679099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tripura state is famous for which folk dance?

Options:

1. = Garbha
2. v Hojagiri
3. = Kavadi

4. = Bihu

Question Number : 41 Question Id : 9983679099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO T 6 ol ofcg & v uidg g7

Options:




B W=
®

« fog

O

Question Number : 42 Question Id : 9983679100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fort St. George museum is located in

Options:

1. = Gwalior
2. v Chennal
3. % Goa

4. » Bihar

Question Number : 42 Question Id : 9983679100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HI¢ dc AT JAET H oa gl

Options:

1. % FGITeRIT

2. v oo
3. = aar

4. = S8R

Question Number : 43 Question Id : 9983679101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Onam is the festival of which state?

Options:

1. » Assam
2. » Madhya Pradesh
3. v Kerala




4, = Gujarat

Question Number : 43 Question Id : 9983679101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MoTH ToRT TSI T 99 &7

Options:

1. = 3HHA
2. % AT TALT
3. v Tl
4. = IR

Question Number : 44 Question Id : 9983679102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the classical dance form of Telangana.

Options:

1. v Perini Sivatandavam
2. = Sattriya Nritya

3. = Kathakali

4. = Gandiya Nritya

Question Number : 44 Question Id : 9983679102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JeEITST ST A ofcd 9 &

Options:

1. v g Rraarsan
2. ® Y o]

3. = ol

4. = AT I

Question Number : 45 Question Id : 9983679103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Banking Ombudsman may reject a complaint at any stage
if it appears to him that the complaint made 1s

Options:

1. = Without any sufficient cause
2. = Vexatious

3. # Frivolous

4. v All options are correct

Question Number : 45 Question Id : 9983679103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SThaT STepuTel ToRET 7 T 9T RIPIT &1 3EGTRR T Hehd]
¢ Ife 38 I8 udiad grar g o &1 a8 Rerraa &l

Options:

1. = foer fohdl gaTed ROT &
2. % I el o ToIT TR amm
3. « T

4, v g7 QheqT HET &

Question Number : 46 Question Id : 9983679104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The finance minister proposed to raise the volume of
institutional credit for agriculture sector by Rs. for the
year 2018-19.

Options:

1.~ 11 Lakh Crore
2. » 18 Lakh Crore
3. = 8.5 Lakh Crore
4. » 10 Lakh Crore

Question Number : 46 Question Id : 9983679104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



a¥ 2018-19 & U faca #3 A FW &7 & v FwawerT For
T ATIT T T T §Fglel AT WEdd IET &

Options:

1. v 11 o HU8
2. = 18 9TF +US
3. % 85 W@ U3
4.

« 10 o

Question Number : 47 Question Id : 9983679105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Ministry presents the economic survey
of India in the parliament?

Options:

1. = Ministry of external affairs

2. v Ministry of finance
3. = Ministry of home affairs
4. = Ministry of health and family welfare

Question Number : 47 Question Id : 9983679105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & O i 97 #7369 §9€ & 9 T 3R
HAETOT TEdT LT 87

Options:

1. = Tader AFToT

2. v Rca AT

3. = E HAT

4. = TIIELT JUT IRGR FeAT0T HATD

Question Number : 48 Question Id : 9983679106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following is a need of protein by human body?
I. Growth of body

II. Repair of body

III. Energy to body

Options:

1. = Only I
2.vIlandII
3. Il and III
4. = Only III

Question Number : 48 Question Id : 9983679106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eI ZaRT Wele hr 3Taedehdr [arafeli@d & & &l A
X
. eR HT gig
. eI T ATFAT
I, eI & F=IT

Options:

1. % Shael |
2. v | aar ll

3. = || Tt il
4. = haer |

Question Number : 49 Question Id : 9983679107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Water vapours can be converted to its liquid form through
which of the following process?

Options:

1. v Condensation



2. = Evaporation
3. = Sublimation
4. = Deposition

Question Number : 49 Question Id : 9983679107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STol IToT hl 3R g MTEAT A rdfeli@ad # & org wishar
T ST ST GehdT &7

Options:

1. v Hoddl

2. = gIogel
3. * ZegUTdel
4. » T8

Question Number : 50 Question Id : 9983679108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a type of plant?

Options:

1. = Herbs
2. v Weed
3. = Shrubs
4. = Trees

Question Number : 50 Question Id : 9983679108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafel&d # & hidd &T G T Teh YhiL gl &7

Options:

1. = QTR

2. v TIIddN

3. = TET



4. = AT

Question Number : 51 Question Id : 9983679109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Lactic acid is present in which of the following?

Options:

1. = Ant’s sting
2. = Amla

3. = Spinach
4. v Curd

Question Number : 51 Question Id : 9983679109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafEa # @ afFew s fhas veda grar &2

Options:

1. = T FT SF
2. % 3Tdell
3. % Toleh

4, v ZgY

Question Number : 52 Question Id : 9983679110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pair is correct?

I. Xylem — transports water
I1. Phloem — transports food

Options:

1. = Only I

2. = Only II
3.vBothIandlII

4. = Neither I nor II



Question Number : 52 Question Id : 9983679110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ Fla @1 77 T&r &7

. STSelH (S1%) - STl Rl Tdgd

Il FellOH (AYATE) - T T IRIE

Options:

1. = Fad |

2. = had |l

3. v | @ |l g=ar
4, = @1 A | AT ar |l

Question Number : 53 Question Id : 9983679111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A is a group of similar cells performing a specific
function.

Options:

1. v Tissue
2. » Membrane
3. » Organelles
4. = Genes

Question Number : 53 Question Id : 9983679111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

CHHATA IR T g A & Sl U ARISE T

AT B
Options:
1. v 3dh

2. = =il



3. ® IR
4. = IO

Question Number : 54 Question Id : 9983679112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The asteroid belt is present between which two planets?

Options:

1. = Mercury and Venus
2. = Jupiter and Saturn

3. = Saturn and Uranus
4. v Mars and Jupiter

Question Number : 54 Question Id : 9983679112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&[caTe WET fohet Y TET & o T §7

Options:

1. = q9 TUT Y

2. % FEEU quT eafe
3. = ufe TuUT I

4.#WW§B’F¢I%

Question Number : 55 Question Id : 9983679113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pair is true?

I. Atomic number — number of protons
II. Mass number — number of protons + number of neutrons

Options:

1. = Only I
2. = Only IT
3.v Both I and II



4, » Neither I nor II

Question Number : 55 Question Id : 9983679113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Grfafae & @ & & 7o a8 2

. TTATIT HEAT - Welall T qE&AqT
I, EETATT FEIT - Welal T FEAT + giall I TE&IT

Options:

1. = shadl |

2. % gl |l

3. v | Tor |l g
4, « AT AT | AT ar |l

Question Number : 56 Question Id : 9983679114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a part of Himalayas?

Options:

1. = Himadri
2. » Himachal
3. = Shivalik
4. v Sahyadris

Question Number : 56 Question Id : 9983679114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa@aaT & & Sl a7 Ao &1 ear 761 &7

Options:

1. = TGATGT
2. » T&ATI
3. = TRIgTTelh



4. v HEIAT

Question Number : 57 Question Id : 9983679115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following is correct order of length of land
border of India?

Options:

1. = China > Bangladesh > Pakistan
2. = Pakistan > Bangladesh > China
3. v Bangladesh > China > Pakistan
4. = Pakistan > China > Bangladesh

Question Number : 57 Question Id : 9983679115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT hT U TIAT hT TFATS o X H hidl TT hH Tal &7

Options:

1. % TTeT > SFATRLT > UTTehedla
2. = UITehEdlel > SEaleel > el
3. v SERel > T > YlTehedTel

o [t * LY
4., = Yehrdld > TUTed > FIIellael

Question Number : 58 Question Id : 9983679116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is correct span of latitudes of India?

Options:
1.v8°4 N-37°6" N

2. % 18°6’ N - 32°4’' N
3. 21°4' N -37°6" N
4 % 15°8" N - 42°6" N

Question Number : 58 Question Id : 9983679116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T & &Il & [OEdR & dR A eaffelidd & d sl a1
Hel &7

Options:
1. v 8°4 3 -37°6" 3
2. = 18°6° 3 - 32°4' 3
3. = 21°4 3 - 37°6" 3
4. » 15°8 3 - 42°6’ 3

Question Number : 59 Question Id : 9983679117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the height of peak Kanchenjunga?

Options:

1. = 7857 metre
2. v 8598 metre
3. = 8848 metre
4. = 8139 metre

Question Number : 59 Question Id : 9983679117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey FaeTodr T 39 fohdar &7

Options:

1. = 7857 HIX
2. v 8598 HIT
3. » 8848 AT
4. » 8139 HIT

Question Number : 60 Question Id : 9983679118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the average annual temperature of the tropical
vegetation zone?



Options:

1. = Below 7 °C
2. v Above 24 °C
3. = Below 0 °C
4. % T7T°Cto 32 °C

Question Number : 60 Question Id : 9983679118 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

SS0T Tal¥diad TS 1 Ad aI¥e dT9HT 4T 87

Options:

1. = 7 °C & &H

2. v 24 °C @ ST

% 0 °C O A

3
4. = 7 °C & 32 °C

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

General Awareness?2

4
998367400
0

0

No

No

0

20

No

Yes

0

0

General Awareness2

998367406
1

Online
Mandatory
20

20

20



Sub-Section Number: 1
Sub-Section 1d: 998367572
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983679119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to 2011 census around half the population of India
lives in which 5 states?

Options:

1. v Uttar Pradesh, Maharashtra, Bihar, West Bengal and
Andhra Pradesh

2. = Uttar Pradesh, Maharashtra, Bihar, West Bengal and
Karnataka

3. = Uttar Pradesh, Maharashtra, Bihar, Tamil Nadu and
Karnataka

4, = Uttar Pradesh, Maharashtra, Bihar, West Bengal and
Tamil Nadu

Question Number : 61 Question Id : 9983679119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2011 hr STeTETOTAAT o 3TAR hlel @ ToAT H T T STe7T
;T STTEEAT &AT 87

Options:

1. v 3ca¥ Yeel, ASNTSE, (981, UTeaH 9ol JduT 3T uer
2. % 3ca¥ W3el, AGRISE, NER, ufead S9el guT el
3. * 3cdl YW, AGNTSE, T9ER, dAfAeEg quT Feleh

4. » 3cc’ VoW, ANISE, ToER, OfR€A s9mel quT dfderrg

Question Number : 62 Question Id : 9983679120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The ‘great bath’ was located in which of the following city?

Options:



1. = Harappa

2. v Mohenjodaro
3. = Lothal

4. = Kalibangan

Question Number : 62 Question Id : 9983679120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AETT FATAY foierafolf@a & & forg gy & g &7

‘Ip. ® @&gedr

2. v Algaslcs)
3. = ol

4. = FHTolEal

Question Number : 63 Question Id : 9983679121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The oldest veda ‘Rigveda’ was composed almost how many
yedar ago?

Options:

1. = 3100
2. % 2800
3. v 3500
4. = 4000

Question Number : 63 Question Id : 9983679121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WW&E‘W’ﬁmwﬁmﬁaﬁqﬁ?iﬁ?

Options:

1. = 3100
2. = 2800



3. v 3500
4. = 4000

Question Number : 64 Question Id : 9983679122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bahlul Lodi ruled Delhi during which years?

Options:

1. = 1351 - 1380
2. % 1206 - 1210
3. = 1414 - 1421
4. v 1451 - 1489

Question Number : 64 Question Id : 9983679122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEollel ollar o Teeoll WX Toral anf & SRUeT emaa TRaT 2r?

Options:

1. = 1351 - 1380
2. = 1206 - 1210
3. = 1414 - 1421
4., v 1451 - 1489

Question Number : 65 Question Id : 9983679123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which period is known as period of the Delhi Renaissance?

Options:

1. = 1808 — 1824
2. v 1830 — 1857
3. = 1809 — 1837
4. % 1824 — 18893

Question Number : 65 Question Id : 9983679123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



hiet AT 31af AT ool & TAARIROT el & TR F el ATl
&7

Options:

1. = 1808 - 1824
2. v 1830 - 1857
3. = 1809 - 1837
4. = 1824 - 1889

Question Number : 66 Question Id : 9983679124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year the British passed the law permitting widow
remarriage?

Options:

1. v 1856
2. = 1808
3. = 1908
4. % 1913

Question Number : 66 Question Id : 9983679124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST WFR o FoFT av A fawar qef faarg $r sraaAfa
lefel ATRC fohar ar?

Options:

1. v 1856
2. = 1808
3. = 1908
4. = 1913

Question Number : 67 Question Id : 9983679125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Arms Act which disallowed Indians from possessing arms
was passed in which year?

Options:

1. = 1854
2. % 1892
3. = 1866
4, v 1878

Question Number : 67 Question Id : 9983679125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MFEY Uhe [oiga ARA™T hr 39a 919 &2 T&a &
aﬁwﬁdﬁmwﬁmma—gﬁmaﬁﬁmgmm

Options:

1. = 1854
2. = 1892
3. = 1866
4. v 1878

Question Number : 68 Question Id : 9983679126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cricketer won the Padma Shri Award
20197

Options:

1. » Virat Kohli

2. » Sachin Tendulkar
3. » Hardik Pandya

4. v Gautam Gambhir

Question Number : 68 Question Id : 9983679126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ o fohshet @ 9ed 4 &R 2019 Sirar &7



Options:

1. » [T FIgel
2. » @i dgereht

3. = @Iigeh U3

4. v A AR

Question Number : 69 Question Id : 9983679127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the author of the book “Changing
India” Book?

Options:

1. v Manmohan Singh
2. * Narendra Modi
3. = Arvind Kejriwal
4. = Arun Jaitley

Question Number : 69 Question Id : 9983679127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfai@a & @ Fiaq After 33 qFds: & @+ 87

Options:

1. v AdAGT 8
x og AT

2.
3. %= 3[4 Sholidre
4.

Cy

« 3T®UT Sicell

Question Number : 70 Question Id : 9983679128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following has been appointed as director of
India Metero-logical Department (IMD) in 20197?

Options:

1. = Shaktikanta Das



2. v Mrutyunjay Mohapatra
3. *» Dr. KJ. Ramesh
4. = Rajiv Kumar

Question Number : 70 Question Id : 9983679128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ay 2019 #, feafei@d # @ oFE ARG & #AlgA [9Hmer &1
AgIfeieer®: {India Metero-logical Department (IMD)} feigerd
ToraT 1T B2

Options:

1. % eIfoderid TH

2. v Hcgold HETIT
3. = 3. F. . TA

4. = g AN

Question Number : 71 Question Id : 9983679129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following won the Padma Vibhushan award
2019 in field of Art-Acting-Theatre?

Options:

1. = Shri Darshan Lal Jain

2. » Shri Kuldeep Nayar

3. v Shri Balwant Moreshwar Purandare
4. = Ms. Teejan Bai

Question Number : 71 Question Id : 9983679129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIlelEaT A 8 orga FeT-MTHaT TTHT & &7 H USH
fereyor qEERR 2019 SirT &7

Options:



1. = ST gefel ool oief
2. % H FEAT AT
S.Jﬁﬁaﬂﬁﬁmﬁw

4. = FART. drolel a3

Question Number : 72 Question Id : 9983679130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the Vice President of India?

Options:

1. v Shri M. Venkaiah Naidu
2. » Shri Ram Nath Kovind
3. » Smt. Sushma Swara]

4. = Shri Raj Nath Singh

Question Number : 72 Question Id : 9983679130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feTfaad A & +id 9RT & 3Wrseuia &7

Options:

1.%%.@.%3@3\
2. = ST UH ATT FIAE
3. = HATT FEAT TS
4. = Y T a1y oE

Question Number : 73 Question Id : 9983679131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the head office of International Monetary Fund?

Options:

1. = India
2. v United States
3. = France



4, » Switzerland

Question Number : 73 Question Id : 9983679131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IHAUSERT HET R KT AET FRIoT Fal &7

Options:

1. = HRT
2. v chrd g AT
3. «

4, » TEacelelvs

Question Number : 74 Question Id : 9983679132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The constitution of India was adopted by constitute assembly
on

Options:

1. = 27 October, 1942
2. % 26 January, 1950
3. v 26 November, 1949
4. = 26 September, 1949

Question Number : 74 Question Id : 9983679132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

N o GidYTel s AT T SaRT T AGUT TohaT
T AT

Options:

1. % 27, 3R, 1942
2. = 26, Sfeladl, 1950
3. v 26, dgFs, 1949
4. = 26, FdFET, 1949



Question Number : 75 Question Id : 9983679133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Governor of state is appointed by with warrant
under his hand and seal.

Options:

1. v President

2. » Vice — President
3. = Chief Minister

4. = Finance Minister

Question Number : 75 Question Id : 9983679133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & TsI9Tel ) el gEATET 3 T dfgd
AT @RI fageFd T ¢

Options:

1. v sgafa

2. » 3USEUlT
3. » AT HA
4. = Tdcd #HAT

Question Number : 76 Question Id : 9983679134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Amendment Bill 2019 aims to provide reservation in
public employment and higher education for “economically
weaker section”.

Options:

1. = 121th
2. v 124th
3. % 112th
4. = 111th



Question Number : 76 Question Id : 9983679134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qengd [Furae 2019 &7 382F, Hdellas UL 3T
“{Ifer §T T FHA T & TOT 3T=r &€ &7 37eror e
LT &l

Options:

1. = 121 @f
2. v 124 ar
3. = 112 ar
4. = 111 af

Question Number : 77 Question Id : 9983679135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 17 is related with :

Options:

1. = Right to education

2. = Equality before law

3. v Abolition of untouchability
4. = Election of president

Question Number : 77 Question Id : 9983679135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefede 17 q getad g

Options:

1. = 19817 oF TIRR

2. = [t & @Her gATar
S.JHFE{Q?II?-ITQKE-I'T—T

4. = qregafd & ferare

Question Number : 78 Question Id : 9983679136 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which country is the host of FIFA Women’s World Cup 20197

Options:

1. » Germany
2. v France

3. = Netherland
4. = England

Question Number : 78 Question Id : 9983679136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FieT @1 2or ThwT ATRT ges FT 2019 ST ASTETAT HT 8T &7

Options:

1. = STHT
2. v W
3. * dlalels
4. = ZATel8

Question Number : 79 Question Id : 9983679137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the women’s single title in 2019 Australian open?

Options:

1. = Petra Kvitova
2. = Zhang Shuai
3. v Naomi Osaha

4. = Angelique Kerber

Question Number : 79 Question Id : 9983679137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & 3ol 3del # ATl Uehel ol W Tohda ST
AqT?

Options:




x O fefadrar
* ST FITS
Jmaﬁﬁaﬁ*em

. W . T
® Uudlleleh oneld

ol

Question Number : 80 Question Id : 9983679138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is true about duration of a hockey
match?

Options:

1. v 4 quarters of 15 minutes
2. = 4 quarters of 17.5 minutes
3. » 2 half of 30 minutes

4. = 2 half of 35 minutes

Question Number : 80 Question Id : 9983679138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl H & el AT Teh Glehl HT T AT & TR H G
g7

Options:

1. v 15 fiae & 4 F|aIX
2. = 17.5 TAac & 4 FaTex
3. » 30 fAde & 2 &e%
4. » 35 fAde F 2 g%

Arithmetic Abilityl
Group Number : 5
Group Id: 998367401
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367407
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367573
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983679139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If144 + v{_ = 6.2, then what is the value of x?

Options:

1. %5
2.v 25
3. % 2.5
4. % 0.25

Question Number : 81 Question Id : 9983679139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe V144 ++x =62 &, ar x F AT F1 &7
Options:

1.+ 5
2. v 25



3. = 2.5
4. = 0.25

Question Number : 82 Question Id : 9983679140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jc.'.
What is the value of \/; + \E ?

Options:

1 » @B

2
2. V8
o
3.4 &
ﬂ
A % V5

Question Number : 82 Question Id : 9983679140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

\E+\E T AT FT 27

Options:
9

1 o @%F

S

2. % Y



1| @

W
#
I

=

Question Number : 83 Question Id : 9983679141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the largest fraction among?

Options:

NS

1. v

2. % 17

Question Number : 83 Question Id : 9983679141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT FT g T e = &2

4 6 3 9
S
70T 4 20

Options:



Question Number : 84 Question Id : 9983679142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

\E+]n

Ifx=7+ 4’5 then what is the value of

Options:

1. % 4-V3
2.v 3-V3
3.%2-V3

4, % 6-V3

Question Number : 84 Question Id : 9983679142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e x=7+43 g, ar “E,fl T AT F4T 87
x



Options:

1. % 4-¥3
2. v 3°V3
3. % 2—13
4 % 6-—43

Question Number : 85 Question Id : 9983679143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfFA*B=(A+B)/(AB), then what is the valueof 1 * (6 * 2)?

Options:

1.v 2.5
2. % 1.5
3. % 2
4 %1

Question Number : 85 Question Id : 9983679143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A+B=(A+B)/(AB) & a1+ (6 + 2) FT Al &1
&7

Options:

1. v 2.5
2. = 1.5
3. % 2
4. = 1



Question Number : 86 Question Id : 9983679144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: : 0.125
What is the value of 3 i—n.naaz?s 9

Options:
E
1.v 3
=
2. % 3
=
3.5 9

A = 1(3v2)

Question Number : 86 Question Id : 9983679144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.125

0002375 Hl el %-?

Options:

1. v 3



4 = 1 (3v2)

Question Number : 87 Question Id : 9983679145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i |

What isthevalueof |, 1 |, |, 2 |?

i 2

Options:

1. =4
2. v 22/5
3. % 16/5
4 %5

Question Number : 87 Question Id : 9983679145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I |

R 46 21 T AT FAT 87

B 2]
Options:

1. = 4
2. v 2215
3. = 16/5
4. = 5

Question Number : 88 Question Id : 9983679146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3X4X7 is exactly divisible by 11, then what is the value of X?



Options:

1. % 2
2.% 3
3.5
4. v 7

Question Number : 88 Question Id : 9983679146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 3X4X7, 11 & qoie: fasford &, ar X &1 Al 237 72

Options:

1. =

v d

3. = 5
Question Number : 89 Question Id : 9983679147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfA= [%T .B=(2)%and C= [%T: then which of the following option is true?
Options:

1.« A>B>C

2.vA=B>C

3.sC>A=DB

4.« A>C>B

Question Number : 89 Question Id : 9983679147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"4

afg A=[%]L,B={:2}‘EHEITC=[%J g, O faf@a & o #ia o Beea @ &2

Options:

1. = A>B > C



2.vA=B»>
3.« C>A-=
4, = A > C >

Question Number : 90 Question Id : 9983679148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A = Least Common Factor of 27 % 3° and 24 = 34,
B = Highest Common Factor of 27 x 34 x 52 and 2° x 34 x 53,

What is the value of A = B?
Options:
1 ® 311 W 3'.-' W 53

2. % 211 x33x 52
3@*211}{39}{52

q % 2°x39x5?

Question Number : 90 Question Id : 9983679148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A=23%35 AT 24 % 3¢ FH TLcdH FAEA ¢l
B=27x34x 52 T 29 x 3¢ x 53 & AgcaH TATTIH gl
A xB @ #AF FT g7

Options:

-I % 311><37><53

2. % 211x35x352



3 & 211><39><52

4 % 29><35><52

Question Number : 91 Question Id : 9983679149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the average of first 12 multiples of 4?

Options:

1. = 24
2.v 20
3. % 28
4, % 30

Question Number : 91 Question Id : 9983679149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 & Tgel 12 JOMRT HT A FT 87

Options:

1. = 24
2. v 26
3. = 28
4. = 30

Question Number : 92 Question Id : 9983679150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two successive discounts of 10 percent and 20 percent are
given on article. If the selling price is Rs.1080, then what is the
marked price?

Options:

1. v Rs. 1500



2. » Rs. 1800
3. = Rs. 1400
4. = Rs. 1600

Question Number : 92 Question Id : 9983679150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s FEg 9T 10 gfcrerd qur 20 gfderd @ & HiAw B &
AT g1 IS fOhT Ao 1080 ®9F &, ar 3iferd Hed T 87

Options:

1. v 1500 ¥
2. = 1800 ¥4
3. = 1400 ¥
4. = 1600 9T

Question Number : 93 Question Id : 9983679151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper gives a discount of 20 percent on a article but
still earns a profit of 20 percent. If no discount is given, then
what is the profit earned?

Options:

1. » 150 percent
2. % 75 percent
3. v 50 percent
4. = 100 percent

Question Number : 93 Question Id : 9983679151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush geRTelg 20 Tfderd I g &dT & W e oft 20 gfcrera
T oTET FATAT & IS FIg T olgl & S0, dr e ufaerd
elTH ShHATHT ITAT?

Options:




» 150 gfcera
x 75 Yfcerd
v 50 gfaera
« 100 gfcera

Question Number : 94 Question Id : 9983679152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is 20 percent of 10 percent of 4007

Options:

1.+ 8
2. % 80
3. = 40
4. % 16

ol

Question Number : 94 Question Id : 9983679152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

400 & 10 gfderd 1 20 ufderd 47 &7

Options:

1. v 8
2. % 80
3. = 40
4. = 16

Question Number : 95 Question Id : 9983679153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

First number and second number are 20 percent and 80
percent respectively more than a third number. Second
number is how much percentage more than the first number?

Options:

1. = 60



2. % 80
3.+ 50
4. % 40

Question Number : 95 Question Id : 9983679153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugoll GEAT TAT ST &1, dIET J&AT & FAM: 20 giaerd
dor 80 wfderd 3t &1 gEdr &A1 Ugell T&AT A fohcTsil
gicrera 3ifee g7

Options:

1. = 60
2. % 80
3. v 50
4. = 40

Question Number : 96 Question Id : 9983679154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination, a student got 25 percent marks and he
failed by 45 marks. If he scored 50 percent marks, then his
marks are 30 more than the minimum passing marks. What
is the minimum passing marks for the examination?

Options:

1. = 90
2.v120
3. =150
4. %75

Question Number : 96 Question Id : 9983679154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TLT&TT H Teh Taearedf &r 25 gforera 3 wred gl § e
qg 45 3 | 3Te[cioT & ST §l AT 38 50 wfcere 37eh yred
gld &, d 38 37 ol Scdior 37 & 30 3779eR &1 odret
& T eI Scdrol 3k T §7

Options:

1. = 90
2. v 120
3. = 150
4. = 75

Question Number : 97 Question Id : 9983679155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh gE] T 15 Ufderd gifel WX ST 9137 &1 Al grfer 300 F99

&, o g% F FI Hed FAT §7?

Options:

1. = 3000 &=
2. % 1500 §2
3. v 2000 ¥4
4. = 4000 T2

Question Number : 97 Question Id : 9983679155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article is sold at a loss of 15 percent. If 1oss is Rs. 300, then
what will be the cost price of the article?

Options:

1. = Rs. 3000
2. % Rs. 1500
3. v Rs. 2000



4. % Rs. 4000

Question Number : 98 Question Id : 9983679156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After giving a discount of 25 percent on an article, there is a
profit of 50 percent. If marked price of article is Rs. 2800, then
what will be the cost price of the article?

Options:

1. » Rs. 1550
2. » Rs. 1050
3. v Rs. 1400
4. % Rs. 1750

Question Number : 98 Question Id : 9983679156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk g&] W 25 UM ST BT oaf & TR, 50 wfderd
oTe BT &1 A avd 7 Jfhd Ao 2800 U &, aF a&] I
T Hed AT GIE?

Options:

1. = 1550 ¥
2. = 1050 ¥
3. v 1400 ¥
4. = 1750 9

Question Number : 99 Question Id : 9983679157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

200 apples are bought for Rs. 1000 and sold at the rate of Rs.
72 per dozen. What will be the profit/loss percentage?

Options:

1. v 20 percent profit
2. = 25 percent profit



3. » 20 percent loss
4. = 25 percent loss

Question Number : 99 Question Id : 9983679157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

200 @« 1000 9= A = 710 3T 72 9 ufd gofel T &I
T ST A0 STH/EITE ufaera T gem?

Options:

1. v 20 ufaerd amH
2. = 25 Gicrerd @meT
3. = 20 ufaerd gifer
4, = 25 gicerd &fel

Question Number : 100 Question Id : 9983679158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifa:b=2:5, then what is the value of (fa + b) / (6a — b)?

Options:

1. v 17/7
2. % 12/5
3. % 19/9
4. = 13/3

Question Number : 100 Question Id : 9983679158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e a:b=2:5%, d (6a + b) / (Ba - b) FT AT FAT §7?

Options:

1. ¢ 1717
2. = 12/5
3. = 19/9




4. = 13/3

Arithmetic Ability?2
Group Number : 6
Group Id: 998367402
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 998367408
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367574
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983679159 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The ratio of milk and water in a solution A is 5 : 3. The ratio
of milk and water in solution B is 3 : 2. The mixtures A and B
are mixed in ratio of 4 : 5. What is the ratio of water and milk

in the final mixture?

Options:

1.x3:06
2.%8:3



3.v7:11
4 % 11:9

Question Number : 101 Question Id : 9983679159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faerger A & g T 9Tell T 3equrd 5 : 3 ¥ fderaet B & gy
TLIT ATl FT eI 3 : 2 & WoIA AT B FR 4 : 5 F
e[t H AT SIrer g1 3fcia fAsior & relr 2T g
ao;qldcreu’é’?

Options:
1.« 3:6
2. % 8:3
3. v 7 11
4. = 11 : 9

Question Number : 102 Question Id : 9983679160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A student gave four examinations E1, E2, E3, and E4. He got
marks in the ratio 3 : 4 : 3 : 5 in the four examinations. Each
exam had same maximum marks. If he has got 75 percent in
aggregate, then in how many examinations he scored more
than 60 percent marks?

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 102 Question Id : 9983679160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk BT o IR IRETT E1, E2, E3 T E4 31 IR giemst &
36k 37eRT ST YTC 3Rl T 3efard 3 : 4 : 3 : 5 &I Ucd+h
TRET & HTYRAT 37 TATT &1 Al 37 Feol 75 Ufcrerd 37k
Ted gV, T Fohcfell aRemsit # 38 60 wiaerd & ST 37

uTrcrgtf?

Options:

1. = 1
2. v 2
3. % 3
4. % 4

Question Number : 103 Question Id : 9983679161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simple Interest on a sum of Rs. 1500 in 2 years is Rs. 660.
What will be the rate of interest?

Options:

1. » 10 percent
2. v 22 percent
3. = 15 percent
4. = 18 percent

Question Number : 103 Question 1d : 9983679161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk 1500 9 &7 O 9 2 ¥ T TR STl 660 T3 &
SATST Rl &L FIT Bl

Options:

1. = 10 ufaera
2. v 22 ufaera




3. = 15 gfgera
4. = 18 wfaderd

Question Number : 104 Question 1d : 9983679162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum becomes 3 times of itself in 4 years at a rate of simple
interest. In how many years will it becomes 9 times of itself?

Options:

1. = 12 years
2. v 16 years
3. = 18 years
4. % 20 years

Question Number : 104 Question Id : 9983679162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U T FIIROT AT I Tk T & 4 a8 # T&F FT 3 T[6
8l ST g1 fordel awl A @8 €& T 9 @ B A

Options:

1. = 12 a¥
2. v 16 @y
3. » 18 a¥
4. = 20 ¥

Question Number : 105 Question Id : 9983679163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and simple
interest on a sum at the rate of 20 percent per annum for two
years is Rs. 152. What is the sum?

Options:

1. » Rs. 6800
2. » Rs. 7600



3. v Rs. 3800
4. = Rs. 3600

Question Number : 105 Question Id : 9983679163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 9T 20 wfcerd uid a¥ &7 & & 2 auf & Thgig
STl AT TIROT 1o o HET T 3a¥ 152 9T &1 J07er <=7

g7

Options:

1. » 6800 &4
2. = 7600 ¥4
3. v 3800 &3
4. = 3600 ¥

Question Number : 106 Question Id : 9983679164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train of length 600 meters is running with a speed of 54
km/hr. In how much time it will cross a stationary pole?

Options:

1. = 30 second
2. v 40 second
3. = 45 second
4. = 35 second

Question Number : 106 Question Id : 9983679164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 600 HIET oFaTS Tl TeEmar 54 for.Av./aer &1 aifa & I
Bl &1 98 Uk N @ & Thde @AT A 9 T o9f?

Options:

1. = 30 d%vg




2. v 40 dkvUs
3. » 45 QHUg
4. » 35 ARUg

Question Number : 107 Question Id : 9983679165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train starts from P at 10 am and reaches Q at 8 pm on the
same day. Another train starts from Q at 8 am and reaches P
at 4 pm on the same day. When they meet, what is the ratio of
distance travelled by them?

Options:

1.x1:5
2.x1:3
3.v1:2
4. % 2.7

Question Number : 107 Question Id : 9983679165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Toemsr P & 10 qalgel W T@edr § JUT Q 9 387 & 8

e W q§t4c|“| gl Teh 3R IoEmsr Q 8§ 8 Ydlgel W Telcl]
g 2T P I¥ 39T T 4 37gT W qg”ﬂ?ﬁ%"laaagﬁﬂ?ﬁ%
dr 3eTeh SART Selr AT AT FAT §?

Options:

1. = 1
2. % 1
3. v 1:
4, = 2 :

5
3
2
-

Question Number : 108 Question Id : 9983679166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



When I walk with a speed of 20 km/hr, I reach my office 10
minutes late. When I walk with a speed of 30 km/hr, I reach
my office 15 minutes early. What should be my speed to reach
on time?

Options:

1. = 25 km/hr

2. % 270 kmm/hr

3. = {250/11) km/hr
4. v (300/13) km/hr

Question Number : 108 Question Id : 9983679166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 # 20 for.aAv/aer $r aifq & Ferar § & & Fred 10
ﬁm%éﬁﬁ@@wﬁ%%ﬁﬁa‘aﬁmﬁﬁm
gwa’rﬁmwﬁﬁ?ﬁfdwﬁ L|§udl & gHT W qé’uﬁ#
fow afr aifa = gy anfge?

Options:

1. = 25 fr.ar/ger
2.« 270 f.aviger
3. = (250/11) fr.Hr./eer
4. v (300/13) Fr.af feeT

Question Number : 109 Question Id : 9983679167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B can do a work in 10 days together. B and C can do the
same work in 15 days together. C and A can do the same work
in 8 days together. In how many days can A, B and C can
complete the same work together?

Options:

1.6



2. %5
3. v 4877
4. % 53/9

Question Number : 109 Question Id : 9983679167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TaT B TF FT & Aot 10 5 # T Gha &1 B gar C
38T FT & Ao 15 g & T Toha &1 C dar A 38T

I TAolrt 8 gl H I Tohd &l 38T S hl T H FRT Hid
§UA,BWCW%J§@W Tohd &7

Options:

1. = 6
2. % 9
3. v 48/7
4. = 53/9

Question Number : 110 Question Id : 9983679168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A pipe can fill a tank in 30 minutes. Another pipe can fill the
same a tank in 40 minutes. A third pipe can fill at a rate of 40
litres/minute. If all the 3 pipes can fill the tank in 40/3
minutes together, then what is the capacity of tank?

Options:

1. = 2000 litres
2. » 3000 litres
3. v 2400 litres
4. = 3600 litres

Question Number : 110 Question Id : 9983679168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk U139 Ueh & ol 30 [Aele & 8T Iehdr &1 U 30T 9S9
38T &F &1 40 TBae & 9T Fhal &1 Uk dIEET 9127 40
ATe/THaAC T T H Y Tehdl &1 I dlal UIST THeht doh hY
40/3 THec A ¥ Tohd &, dl & hl &HAT Tohdell &7

Options:

1. = 2000 ofex
2. = 3000 olex
3. v 2400 oex
4. = 3600 olreT

Question Number : 111 Question Id : 9983679169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B and C can complete a of work alone in 15 days, 18 days
and 20 days respectively. They start working together but B
left the work after 2 days and C left 3 days before the work
was completed. In how many days was the work completed?

Options:

1. v 187/21
2. = 199/7
3. % 165/3
4. = 176/15

Question Number : 111 Question Id : 9983679169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B @aT C U &R I A 15 fod, 18 foa qur 20 fea

H HATCT T Hehd &1 I8 WY FE Tl 4F Fd & W B, 2
fee & TAId S BIS ST § 927 C & [ ga 8§ 3 fao

Ugol R B ST &1 Eh‘l‘efrﬁ«_d?rﬁ?rﬁqgrgm

Options:




1. v 187121
2. = 199/7
3. = 165/3
4. = 176/15

Question Number : 112 Question Id : 9983679170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the perimeter of a square is 84 cm, then what is the area of
the square?

Options:

1 = 448 cm?
2 v 441 cm?

3 % 576 cm?

4 = 676 cm?

Question Number : 112 Question Id : 9983679170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg vk FIT T INATT 84 @AY, &, AT I FT SA%or FAT §7?

Options:

1w 448 T2

441 g# 2



3, 576 @A’

676 T.#T.2

Question Number : 113 Question 1d : 9983679171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The side of a rhombus is 10 cm. If the length of one of the
diagonal is 16 cm, then what is the area of the rhombus?

Options:

1. = 108cm?
3 96 cm?
3 % 120 cm?

4. = 132 cm?

Question Number : 113 Question 1d : 9983679171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TANHRIOT T oS 10 QAL &1 I TR KoT hr oFwrg 16
./, &, ar RYASIUT FT ST FAT BT

Options:

1 x L08 .72




5 o 9 .42

3w 120WHN2

4 x 1282

Question Number : 114 Question Id : 9983679172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the volume of a sphere is 38808 cm’®, then what is the curved surface area

of the sphere?
Options:

1. = 5500 cm?

7P o 5544 cm?

3 % 5551 cm?

A w 3558 cm?

Question Number : 114 Question Id : 9983679172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T I FT IS 38808 Ha® F, O e @ Tk gy
S 9%eT T 7
Options:

1w 5500 HFH2



2 v 5544 F.#HT.2

3w 55512

A x SS58 T2

Question Number : 115 Question 1d : 9983679173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the runs scored by two players M and N in the five matches.

M N

Z‘~.-Ial‘[ch 36 29

Match 24 59
2

l-IaS‘[ch 40 31

Match 42 36
4

M?Ch 18 | 48

What is the average of total runs scored by player M in all the matches together?

Options:

1. % 38
2. % 42
3.v 32
4. % 30

Question Number : 115 Question Id : 9983679173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Srer &7 AT arferer 99 Hu # 2 enfEal ganT A AT & S g2idr B

M| N
H=T1 | 36 | 29
T2 | 24 | 52
w3 | 40 | 31
4 | 42 | 36
s | 18 | 48

Tt A=t 7 THomet [Bemdr M @ s 97T For @A w0 HHT F= §?
Options:

1. = 38
2. % 42
3. v 32
4. = 36

Question Number : 116 Question Id : 9983679174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the various expenses incurred on the manufacturing of a bat.
These expenses are shown as the percentage of the total expenses.

Transportation Rent
20% 3094
Labour
10%
Rubber
20%

If the total expenses incurred on the manufacturing of bat is Rs. 68000, then what are the total
expenses incurred on Rubber?

Options:



1. = Rs. 12600
2. » Rs. 12800
3. v Rs. 13600
4. = Rs. 11600

Question Number : 116 Question Id : 9983679174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A o T geg R ve g F 3UeA W R v Affew st #r gerar #
51 fetewt =03t 1 For =0T & gfoRa & & A g W g

S IFCEE T

20% 30%

;
20% -

10%
LEES
20%

Tfe Soor & 3cICH W%&Tmﬁrmmsmﬂﬂﬁ,?ﬁﬁgq?mwgm
o fhaar g7

Options:

1. = 12600 &9
2. = 12800 T
3. v 13600 ¥
4. = 11600 T

Question Number : 117 Question Id : 9983679175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the marks obtained by three girls H. R and M is five different
subjects.

subjects anls
H|R | M
S1 69 | 73 | 64
S2 82 | 54 | 56
S3 74 7 | 48
S4 96 | 90 | 60
S5 84 | 66 | 72

J = Average of total number of marks obtained by H in subject S1, S2 and S5 together.
T = Total marks obtained by M in all the subjects together.
What is the value of T/J?

Options:

1. = 3.51
2. v 3.83
3. % 3.32
4. = 3.44

Question Number : 117 Question Id : 9983679175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A=r &7 TR e 319 IR Ho R 3T M garT O BfEes vt 7 g &
AT 3T Fr AT B

CLE) il
H|IR (M
S1 69 | 73 | 64
52 82 | 54 | 56
S3 74 [ 67 | 48
S4 96 | 90 | 60
S5 84 [ 66 | 72

T=H @R fawg s1, s23ur s5 # fRemey yrea 4 710 o e @ Hwd|
T=aef Tt & fBemey M ganr grea Y a1 Fer 3|
T/J =T AT &1 272

Options:



1. = 3.51
2. v 3.83
3. = 3.32
4. = 3.44

Question Number : 118 Question Id : 9983679176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the total number of buses running in 6 states of a country.
Number of buses are shown as the percentage of total number of buses running in all the six
states together.

40 - 35
E.—"-"' 35_ |
g & 30 1
W 28 4 20
il 16
.
£ 2 154 12 1
3 § 101 L
I
D T T T T T 1
M L T K 7 H
States

If the total number of buses running in state H are 9100, then what are the total number of buses
running in all the six states together?

Options:

1. = 113000
2. = 190000
3. = 116000
4. v 130000

Question Number : 118 Question Id : 9983679176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁmmﬁmﬁéﬂrﬁﬁmgiﬂﬁqﬂ@mﬁﬁmﬁﬁm
¢ FET Fr TEIT Fr T o TAT H =T @E@ﬁ;ﬁmﬁqﬁﬁmﬂ?w
& e T g

40, - 35
35 | —
+E=Eﬁ0—
[e 25 A 20
¢ £ 20 - 16
; %15-12 10 -
EUlD_H H !
5_
D T T T T I’_‘I
M L T K Z H
Tsa

ofg T=T H # = W@ 69 # For F&ar 9100 g, dF @l og: T 7 ey =7
TET FH W F FEAT T 87

Options:

1. = 113000
2. = 190000
3. = 116000
4. v 130000

Question Number : 119 Question Id : 9983679177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the total number of books sold by five traders in a city H.

50 45
o 40 —
= 40 A —
= 30
e | B —
= 20
5 201 15
=
5 10 -+
Z
D T T T T 1
T1 T2 T3 T4 TS
Traders

Number of books sold by T1 is what percentage of the total number of books sold by T3 and T4
together?

Options:

1. » 20
2. % 25
3.% 15
4. v 30

Question Number : 119 Question Id : 9983679177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



oA fear o1 g8 W AeT H H I fasharat ganr a= iy qrden # FHer FEm
HI AT &l

40 —

40

30 - —
20

10

?+ﬁ+
)
=

T1 T2 T3 T4 TS
Ear

T1 GaRT =7 a1y GFdep! 1 Fol HEAT T3 IUT T4 G0 fAeey = arafy et &
$ HEAT HT fohddar Fiaed 87

Options:

1. = 20
2. = 25
3. = 15
4. v 30

Question Number : 120 Question Id : 9983679178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The frequency polygon given below shows the selling price of five different articles sold by a
trader.
Selling price = Cost price + profit

: . : P
Selling price = Cost price {1 + m:| Here P = Profit percentage

900 A 800
300 -

700 A
600 A

500 -
400 { 3327500

300 A
200 A
100 -

D T T T T 1

Selling price

Articles

If the profit percentage on article M is 25%, then what is the cost price of the article M?

Options:

1. v 640
2. % 1000
3. = 760
4. % 540

Question Number : 120 Question Id : 9983679178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



oA fe@m T e SgeT U fashaT qERT S I 9re fafdest ast & T
qeT F AT 2
o o7 = &7 777 + =¥

P s
IEET) AT = & H [Hﬁ} TET P =oTd 9Taed

900 1 800
300 ~

700 A

E{ 600 -
500 - 600

200 1 350500 250
E 300 1

200 -

100 A

D I I T I 1

Ife WA M 9T ameF gfcerd 25% g, f At M #1 F J{e T F47 87

Options:

1. v 640
2. = 1000
3. = 760
4. = 540
General English1
Group Number : 7
Group ld: 998367403
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
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Question Number : 121 Question Id : 9983679179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

By the time he leaves china (1)/ cory will have been
teaching (2)/ at the university for more than a year. (3)/ No

error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 121 Question Id : 9983679179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

By the time he leaves china (1)/ cory will have been teaching
(2)/ at the university for more than a year. (3)/ No error (4)

Options:

1. %1
2. % 2
3.3
4.4

Question Number : 122 Question 1d : 9983679180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

It is important understand (1)/ the mechanics of reading (2)/
and various techniques of reading. {3)/ No error (4)

Options:

1.+1
2. % 2
3.3
4, « 4

Question Number : 122 Question Id : 9983679180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

It 1Is important understand (1)/ the mechanics of reading (2)/

and various techniques of reading. (3)/ No error (4)

Options:

1. v 1
2. % 2
3. % 3
4. = 4

Question Number : 123 Question Id : 9983679181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there is no error, choose ‘No error’.

Everyone who writes should (1)/ have something of add to (2)/
the world’s stock of knowledge. (3)/ No error (4)

Options:

1. =1
2. v 2
3.3
4 %4

Question Number : 123 Question Id : 9983679181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It
If there 1s no error, choose ‘No error’.

Everyone who writes should (1)/ have something of add to
(2)/ the world’s stock of knowledge. (3)/ No error (4)

Options:

1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 124 Question Id : 9983679182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

Express your thoughts feebly (1)/ at your own way rather
than (2)/ with strength. (3)/ No error (4)

Options:

1. %1
2.v 2
3.% 3
4. %4

Question Number : 124 Question Id : 9983679182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

Express your thoughts feebly (1)/ at your own way rather
than (2)/ with strength. (3)/ No error (4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 125 Question Id : 9983679183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there is no error, choose ‘No error’.

The poet must (1)/ used his emotions (2)/ to pay his
provisional bills. (3)/ No error (4)

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 125 Question Id : 9983679183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The poet must (1)/ used his emotions (2)/ to pay his
provisional bills. (3)/ No error (4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 126 Question Id : 9983679184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Law of demand establishes the relationship between
(demanding) of a product and its price.

Options:

1. v demand

2. » demanded

3. = value

4. = No Improvement

Question Number : 126 Question Id : 9983679184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

Law of demand establishes the relationship between

(demanding) of a product and its price.

Options:

1. v demand
2. = demanded
3. % value

4. = No improvement

Question Number : 127 Question Id : 9983679185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The two aircrafts collided 30 metres above the ground before
they (plummeted in) earth.

Options:

1. = plum in

2. = plummeted into
3. v plummeted to

4. = No iImprovement

Question Number : 127 Question Id : 9983679185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The two aircrafts collided 30 metres above the ground

before they (plummeted In) earth.

Options:



1. = plum In

2. = plummeted Into
3. v plummeted to
4.

* No improvement

Question Number : 128 Question Id : 9983679186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Goldilocks (knock) on the bears’ front door but no one came
to the door.

Options:

1. » knocks

2. v knocked

3. » had knock

4. = No iImprovement

Question Number : 128 Question Id : 9983679186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Goldilocks (knock) on the bears’ front door but no one

came to the door.

Options:

1. = knocks
2. v knocked
3. = had knock

4, = No improvement



Question Number : 129 Question 1d : 9983679187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

One day a conceited hare, who thought he was (better), met
an old tortoise.

Options:

1. = the better

2. % & best

3. v the best

4. = No improvement

Question Number : 129 Question 1d : 9983679187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

One day a conceited hare, who thought he was (better),

met an old tortoise.

Options:

1. = the better
2. %= a best
3. ¢ the best

4, = No improvement

Question Number : 130 Question Id : 9983679188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Only those with (recording) of good conduct will be allowed
to work in these establishments.



Options:

1. v records

2. = recorded

3. = record

4. = No improvement

Question Number : 130 Question Id : 9983679188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Only those with (recording) of good conduct will be allowed

to work In these establishments.

Options:

1. v records
2. = recorded

3. = record

4, = No improvement

Question Number : 131 Question Id : 9983679189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

A more painful aspect of these elections was the extent of
standerous campaigns, with allegations and
counter-allegations.

Options:

1. = grating
2. = Including



3. v filled
4. = firing

Question Number : 131 Question Id : 9983679189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

A more painful aspect of these elections was the extent of
standerous campaigns, with allegations and

counter-allegations.

Options:

1. = grating
2. % Including
3. v filled

4. = firing

Question Number : 132 Question Id : 9983679190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

This book makes me miss a lot of books I have grown up

Options:

1. = dancing
2. v reading
3. = eating
4. = acting



Question Number : 132 Question 1d : 9983679190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

This book makes me miss a lot of books | have grown up

Options:

1. = dancing
2. v reading
3. = eating
4. = acting

Question Number : 133 Question Id : 9983679191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

If you ask the bread-winner of a family what determines his
spending, the answer will be

Options:

1. = tax

2. % rent

3. = food

4. v Income

Question Number : 133 Question 1d : 9983679191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

If you ask the bread-winner of a family what determines his

spending, the answer will be

Options:

1. = tax
2. % rent

3. = food

4. v Income

Question Number : 134 Question Id : 9983679192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

It was way in the 70’s that pop music regained
popularity.

Options:

1. » ahead
2. v back

3. = below
4. = forward

Question Number : 134 Question Id : 9983679192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

It was way in the 70’s that pop music regained

popularity.

Options:

1. = ahead
2. v back
3. = below

4. = forward

Question Number : 135 Question Id : 9983679193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

There are too, though In a minority, who predict doom.

Options:

1. v cynics

2. = people

3. = optimists

4. = fortune tellers

Question Number : 135 Question Id : 9983679193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

There are too, though In a minonty, who predict

doom.

Options:

1. v cynics

2. % people

3. ® optimists

4. = fortune tellers

Question Number : 136 Question Id : 9983679194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Mrs. Kansal a sadness she didn’t feel.

Options:

1. = affect
2. » effected
3. = effects
4. v affected

Question Number : 136 Question Id : 9983679194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Mrs. Kansal a sadness she didn’t feel.

Options:

1. = affect
2. = effected
3. = effects
4. v affected

Question Number : 137 Question Id : 9983679195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

ambition one starts nothing.

Options:

1. v Without

2. » With

3. = Withstand
4. = Wither

Question Number : 137 Question Id : 9983679195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

ambition one starts nothing.

Options:



1. v Without
2. = With

3. = Withstand
4. = Wither

Question Number : 138 Question Id : 9983679196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Kill no more chickens you can eat.

Options:

1. = therefore
2. » their
3. = them
4. v than

Question Number : 138 Question Id : 9983679196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Kill no more chickens you can eat.

Options:

1. = therefore
2. = their
3. = them
4. v than



Question Number : 139 Question 1d : 9983679197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out
of the four options given, select the most logical order of the
sentences to form a coherent paragraph.

P: That’s exactly what is happening at Wilson college where
grouses against the college’s commercial activities are
increasing.

(3: But when it becomes a regular affair, especially in an
educational institution, it could get annoying for the staff.
R: An agitation to protest against such activities was
organized by the non-teaching staff.

S: The shooting of a film or a TV serial in a public place
generates curiosity amongst the people.

Options:

1. * PQRS
2. * RPQS
3. * SRPQ
4. v SQPR

Question Number : 139 Question Id : 9983679197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentences.
Out of the four options given, select the most logical order

of the sentences to form a coherent paragraph.

P: That's exactly what is happening at Wilson college where
grouses against the college’s commercial activities are
Increasing.

Q: But when it becomes a regular affair, especially in an
educational Institution, it could get annoying for the staff.

R: An agitation to protest against such activities was
organized by the non-teaching staff.

S: The shooting of a film or a TV senal in a public place

generates curiosity amongst the people.

Options:

1. = PQRS
2. = RPQS
3. = SRPQ
4. v SQPR

Question Number : 140 Question Id : 9983679198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the ANTONYM of the word ‘organised’?

Options:

1. = arranged
2. « coordinate
3. = structured



4. v jumble

Question Number : 140 Question Id : 9983679198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What i1s the ANTONYM of the word ‘organised™

Options:

1. = arranged
2. % coordinate
. % structured

3
4. v jumble
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Question Number : 141 Question Id : 9983679199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out
of the four options given, select the most logical order of the
sentences to form a coherent paragraph.

P: Different services to students under one roof.

(J: Has remained on paper.

S: The University of Pune’s plan to set up a dedicated.
R: Student’s facilitation centre for providing.

Options:

1. * RPQS
2. * PRSQ
3. v SRPQ
4. = PQRS

Question Number : 141 Question Id : 9983679199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences.
Out of the four options given, select the most logical order

of the sentences to form a coherent paragraph.

P: Different services to students under one roof.
Q: Has remained on paper.
S: The University of Pune’s plan to set up a dedicated.

R: Student’s facilitation centre for providing.

Options:

1. = RPQS
2. = PRSQ



3. v SRPQ
4. = PQRS

Question Number : 142 Question Id : 9983679200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

ACCEDE

Options:

1. = Reprove

2. %« Apree

3. = Yield

4. v Disapprove

Question Number : 142 Question Id : 9983679200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s opposite iIn meaning to the given

word.

ACCEDE

Options:

1. = Reprove
2. » Agree

3. # Yield

4. v Disapprove

Question Number : 143 Question Id : 9983679201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that is opposite in meaning to the given
word.

GERMANE

Options:

1. v Improper
2. = Elect

3. = Dirty

4. % Childish

Question Number : 143 Question Id : 9983679201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite iIn meaning to the given

word.

GERMANE

Options:

1. v Improper
2. = Elect
3. = Dirty
4. = Childish

Question Number : 144 Question Id : 9983679202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

PLETHORA

Options:

1. = Bitter



2. = Profuse
3. » Deluge
4. v Rarity

Question Number : 144 Question Id : 9983679202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s opposite iIn meaning to the given

word.

PLETHORA

Options:

1. = Bitter
2. = Profuse
3. = Deluge
4. v Rarity

Question Number : 145 Question Id : 9983679203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

JUBILATED

Options:

1. = Glory
2. v Sad

3. = Brag

4. = Around

Question Number : 145 Question Id : 9983679203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that I1s opposite iIn meaning to the given

word.

JUBILATED

Options:

1. = Glory
2. v Sad

3. = Brag
4. = Around

Question Number : 146 Question Id : 9983679204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

BEATIFIC

Options:

1. = Meet

2. » Happy

3. v Sorrowful
4. = Boost

Question Number : 146 Question Id : 9983679204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite iIn meaning to the given

word.

BEATIFIC

Options:



1. = Meet

2. = Happy
3. v Sorrowful
4.

% Boost

Question Number : 147 Question Id : 9983679205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is incorrectly spelt.

Choose the incorrectly spelt word.

Options:

1. » Adherence
2. » Ambience
3. = Advertise

4, v Admitence

Question Number : 147 Question Id : 9983679205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is Incorrectly spelt.

Choose the incorrectly spelt word.

Options:

1. = Adherence
2. = Ambience
3. = Advertise

4. v Admitence



Question Number : 148 Question 1d : 9983679206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is incorrectly spelt.

Choose the incorrectly spelt word.

Options:

1. = Discontinuous
2. v Ambigous

3. = Unscrupulous
4. = Superstitious

Question Number : 148 Question 1d : 9983679206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is Incorrectly spelt.

Choose the incorrectly spelt word.

Options:

1. = Discontinuous
2. v Ambigous
3. = Unscrupulous

4, = Superstitious

Question Number : 149 Question Id : 9983679207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word 1s incorrectly spelt.

Choose the incorrectly spelt word.



Options:

1. = Anecdotal
2. » Accidental
3. v Celestal

4. = Congenital

Question Number : 149 Question Id : 9983679207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is Incorrectly spelt.

Choose the incorrectly spelt word.

Options:

1. = Anecdotal
2. = Accidental
3. v Celestal

4, = Congenital

Question Number : 150 Question Id : 9983679208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Rubbed shoulders with

Options:

1. = to dance with
2. = to flatter
3. v to come into close contact with



4. = to agree with

Question Number : 150 Question Id : 9983679208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

Rubbed shoulders with

Options:

1. = to dance with
2. = to flatter
3. v to come Into close contact with

4, = to agree with

Question Number : 151 Question Id : 9983679209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

On tenterhooks

Options:

1. = in a state of danger

2. = in a fanourable position
3. v In a state of suspense

4. = to be very excited

Question Number : 151 Question Id : 9983679209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

On tenterhooks

Options:

1. = In a state of danger
2. % In a fanourable position
3. v In a state of suspense

4. = to be very excited

Question Number : 152 Question Id : 9983679210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Fast and loose

Options:

1. * narrow

2. = steady

3. » narrow and minded
4. v unfaithful

Question Number : 152 Question Id : 9983679210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

Fast and loose

Options:

1. = narrow
2. % steady
3. # narrow and minded

4. v unfaithful

Question Number : 153 Question Id : 9983679211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

The one who cannot be defeated.

Options:

1. v Invincible

2. » Indelible

3. = Indefatigable
4. = Incorrigible

Question Number : 153 Question 1d : 9983679211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

The one who cannot be defeated.

Options:

1. ¢ Invincible



2. % |ndelible
3. = Indefatigable

4, = |ncorrigible

Question Number : 154 Question 1d : 9983679212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A government by the nobles.

Options:

1. = Bureaucracy
2. = Plutocracy
3. v Aristrocacy
4. = Democracy

Question Number : 154 Question Id : 9983679212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A government by the nobles.

Options:

1. = Bureaucracy
2. % Plutocracy
3. v Aristrocacy

4. = Democracy

Question Number : 155 Question Id : 9983679213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

A person who remains unmoved and unaffected by other
people’s opinions.

Options:

1. = Notorious
2. » Venial

3. v Impervious
4. » Assenal

Question Number : 155 Question Id : 9983679213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person who remains unmoved and unaffected by other

people’s opinions.

Options:

1. = Notorious
2. = Venial
3. ¢ Impervious

4. = Assenal

Sub-Section Number: 2
Sub-Section Id: 998367577
Question Shuffling Allowed : Yes

Question Id : 9983679214 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

I kicked my fins and swam towards the shadowy figure. It
turned and began moving towards me. I was face to face with
a Greenland shark. I'd seen drawings and paintings of the
fish, but this was utterly different. It was ghoulish. It's nostrils
were the largest I had ever seen on a shark. They reminded
me of a giant double-barreled shotgun. It's mouth was slightly
open, revealing rows of small sharp teeth. It's eyes looked
fogged over, like those of a dead fish, and from each one
dangled a tasseled parasite called copepod. Turning a blind
eye to hitchhikers, almost all Greenland sharks host tiny
crustaceans called copepods that attach themselves to the
sharks’s corneas, severly damaging their eyesight. In any case,
bhecause they spend most of their time in darkness, sometimes
at ocean depths reaching 7200 feet, these sharks seem to have
little use of eyes. Scientists speculate that the copepod may
actually aid the shark in feeding. Fish may be attracted to the
parasite, which moves like a fishing lure when the shark is
swimming. Although the shark’s vision is severly
compromised, it retains a keen sense of smell to seek out prey.
One of the interesting features of this Greenland shark is it's
poisonous flesh. 'Drunk as a dog’, the Inuit like to say. The
phrase comes from the behaviour of sledge dogs after they eat
the raw flesh of Greenland sharks, which often contains a
strong neurotoxin. One of the few ways to detoxify the flesh is
to soak a dead shark in salt water for several days-an
approach tried by researchers who then fed the carcass to a
team of hungry sledge dogs. They showed no adverse
symptoms. I later saw a dog that had fed on a newly killed
Greenland shark. It appeared inebriated. It couldn't stand up.
During World War II, the Greenland shark was hunted for its
liver oil- valued as an airplane engine lubricant. It's tissues
have a high urea content, giving rise to Inuit legend of the
shark’s origin: An old woman washed her hair in urine and
dried it with a cloth. The cloth blew into the sea and became
the first Greenland shark. Today the Inuit disdain this curious
creature, which they consider a useless nuisance that
scavenges their food.



Sub questions

Question Number : 156 Question Id : 9983679215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hitchhickers’ in the passage refers to which of the following?

Options:

1. = The sledge dogs

2. * The shark corneas

3. » The speculating scientist

4. v Tiny crustaceans called copepods

Question Number : 157 Question Id : 9983679216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What would be the primary reason for the author’s awe on
being face to face with the Greenland shark?

Options:

1. v The reality of seeing it in person

2. = Its huge nostrils that reminded him of a double barreled
shotgun

3. # Its open mouth revealing rows of small sharp teeth
4. = Its fogged over eyes like those of a dead fish

Question Number : 158 Question Id : 9983679217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Inuits consider the Greenland sharks to be

Options:

1. = Blind creatures
2. » Poisoned fish
3. v Scavengers

4. = Engine fuel

Question Number : 159 Question Id : 9983679218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The phrase opposite in meaning to ‘inebriated’ would be

Options:

1. = Of unbalanced nature

2. v Not being intoxicated

3. = To abstain from flesh eating
4. = Herbivorous

Question Number : 160 Question Id : 9983679219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which word means the same as ‘ghoulish?’

Options:

1. v Devilish
2. = Pleasant

3. » Normal
4, = Godlike

Question Id : 9983679214 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

| kicked my fins and swam towards the shadowy figure. It
turned and began moving towards me. | was face to face
with a Greenland shark. I'd seen drawings and paintings of
the fish, but this was utterly different. It was ghoulish. lIt's
nostrils were the largest | had ever seen on a shark. They
reminded me of a giant double-barreled shotgun. It's mouth
was slightly open, revealing rows of small sharp teeth. It's
eyes looked fogged over, like those of a dead fish, and
from each one dangled a tasseled parasite called copepod.
Turning a blind eye to hitchhikers, almost all Greenland
sharks host tiny crustaceans called copepods that attach
themselves to the sharks's corneas, severly damaging their
eyesight. In any case, because they spend most of their
time in darkness, sometimes at ocean depths reaching 7200
feet, these sharks seem to have little use of eyes.
Scientists speculate that the copepod may actually aid the
shark in feeding. Fish may be attracted to the parasite,
which moves like a fishing lure when the shark is
swimming. Although the shark's vision is severly
compromised, it retains a keen sense of smell to seek out
prey.

One of the interesting features of this Greenland shark is
it's poisonous flesh. 'Drunk as a dog', the Inuit like to say.
The phrase comes from the behaviour of sledge dogs after
they eat the raw flesh of Greenland sharks, which often
contains a strong neurotoxin. One of the few ways to
detoxify the flesh is to soak a dead shark in salt water for
several days-an approach tried by researchers who then fed
the carcass to a team of hungry sledge dogs. They showed
no adverse symptoms. | later saw a dog that had fed on a
newly killed Greenland shark. It appeared inebriated. It
couldn't stand up. During World War |l, the Greenland shark
was hunted for its liver oil- valued as an airplane engine
lubricant. It's tissues have a high urea content, giving rise to
Inuit legend of the shark's origin: An old woman washed her
hair in urine and dried it with a cloth. The cloth blew into
the sea and became the first Greenland shark. Today the
Inuit disdain this curious creature, which they consider a

useless nuisance that scavenges their food.



Sub questions

Question Number : 156 Question Id : 9983679215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hitchhickers’ Iin the passage refers to which of the following?

Options:

1. = The sledge dogs
2. » The shark corneas
3. * The speculating scientist

4. v Tiny crustaceans called copepods

Question Number : 157 Question Id : 9983679216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What would be the primary reason for the author's awe on

being face to face with the Greenland shark?

Options:

1. v The reality of seeing It In person

2. % |ts huge nostrils that reminded him of a double

barreled shotgun
3. = lts open mouth revealing rows of small sharp teeth

4, = |ts fogged over eyes like those of a dead fish

Question Number : 158 Question Id : 9983679217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The |nuits consider the Greenland sharks to be

Options:

1. = Blind creatures
2. * Poisoned fish

3. v Scavengers



4. = Engine fuel

Question Number : 159 Question Id : 9983679218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The phrase opposite In meaning to ‘inebriated” would be

Options:

1. = Of unbalanced nature
2. v Not being intoxicated
3. * To abstain from flesh eating

4. = Herbivorous

Question Number : 160 Question Id : 9983679219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which word means the same as ‘ghoulish””’

Options:
1. v Devilish

2. = Pleasant

3. * Normal

4. = Qodlike
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General Hindi1l
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Question Number : 161 Question Id : 9983679220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R ¥ & Roadt < T R

Options:

1. % 3@
2. % qdd
3. = TO
4. v AU

Question Number : 161 Question Id : 9983679220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frtotad # & Thad gor 9 gl

1. = 33k
2. % oafd
3. % 3JTOTer
4. v IO

L

Question Number : 162 Question Id : 9983679221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 SIeC i T ST T&U T e, DI gl €7 gl

Options:

1. v 3Teit
2.« 3T

3. « 3L
4. % JTTeAt

Question Number : 162 Question Id : 9983679221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e F Fel ST QU 90 s KT THT T &

+ O
Options:

1. v 33Tell
2.« 3fager
3.« st
4, = J3MTell

Question Number : 163 Question 1d : 9983679222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY # ¥ Yo’ Ieh e, AT I Dyl

Options:

1. * TRTAST
2. % 3T
3. ¢ Shgdl
4, » GUAg

Question Number : 163 Question Id : 9983679222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




e Eg # ¥ 93T JF e, T TIH RITTT|

Options:

1. = TITHT
2. % 3Toled

3. v ZHhad
4, » TR

Question Number : 164 Question 1d : 9983679223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgTelad # & TohalT TrQiuur &l i1

Options:

1. = MR
2. v T
3. % T

4, » Ty

Question Number : 164 Question 1d : 9983679223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁmﬁﬁmﬁgﬁﬁl

Options:

1. % JMeITehI
2. v e

3. % gall
4. = Taz@rarqash

. N

Question Number : 165 Question Id : 9983679224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e, @I I ST Gygaraen T gl

Options:

1. v 3R
2. % ToITel




3. # Alcdel
4. « e

Question Number : 165 Question Id : 9983679224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e I ol ST FHgATIHR AT &

Options:

1. v 3R
ot

2. % dolle
o0

3. % TIdel

4. = o

Question Number : 166 Question Id : 9983679225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T Sree BT GHTY T

B

Options:

1. « PHURY
2. % qcq&Eq
3. *Eg

4. v Jgeilg

Question Number : 166 Question Id : 9983679225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T 97T 9oTeg T HHTE gﬁl

GO

Options:

1. % FEIRT
2. » TCIEY



3. * cgecd
4. v gellg

s

Question Number : 167 Question Id : 9983679226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ATGT TGiTdhd T & T T&AT AT gl T@iTcha WAT i AT FTT PR

FITSaT ATPIr 7 32 Gl 3l

Options:

1. » 3TpHE
2. v GOHE
3. = JATTU®T
4. % AT

Question Number : 167 Question Id : 9983679226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gTery IWTfehd HTT o O fe=am ar=am &1 Y@ifeha #meT <hr
foraT AT R

TSTT 3eRIer A 38 T &

Options:

1. = 3hd®
2. v HhHb
3. = HATYHRT
4, = 3FHATTYURT

Question Number : 168 Question 1d : 9983679227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag, d, 39, 3vg, PT AT IYHT 3T, [ TDHR P G-TH STec; 27

Options:

1. * 30 TEUATAD




2. ® HEJH JEUITID
3. v I JEYATAD
4. » GrIYTIR

Question Number : 168 Question Id : 9983679227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8, d, 39, 3¢g, SHHT IAT 3T ¢ TFT YhR o HJATH 2SS
&7

Options:

1. = 3cdH gwqmch

2. & HEIJH gwmwh

3. v og ghﬁldlﬂch

4. » FTUATUh

Question Number : 169 Question Id : 9983679228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M § ¥ DI 9T o9 &7 €7 T51 32

Options:

1. = <shdTd
2. % T
3. % S[hC

4. v godl

Question Number : 169 Question Id : 9983679228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafeT=&T # @ i AT dcTH T 9 I8l 67

Options:

1. = Jshdld
2. = Tog
3. # ehc




4. v ool

Question Number : 170 Question Id : 9983679229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U ATFT LGiTche VAT & GT 1T AT g1 T@iTehd 9T T 31T ATT P

Y &) & 3T BT o T gl

Options:

1. * P STeh AqY

2. v TITATA® TohdT TaLmur
3. * JqUaed T

4. % PGS haT AT

Question Number : 170 Question Id : 9983679229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk g IR HTT o T fo=r arar & Y@ifera T T

IS ATT R

RY &X & 3HeX FHA FT T B

Options:

1. » H=IY SF 3T

2. v TUTAAIR TR Taretyor
3. * HOUEIUh 3T

4. = FTearaer fohar faeiyor

Question Number : 171 Question Id : 9983679230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e B g A1 QU MY &) § G e F [ ghm

7cg + W

Options:



1. * AAURId
2. v GguId
3. * FAIRId
4, % gegud=d

Question Number : 171 Question Id : 9983679230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 o5 R Iel S OV a0 orsel H AT W F fAfAT greml

qcg + 3T
Options:

1. = T

2. ¢ HcIId

3. % aic-aﬁq{id

4. » HcgUded
L |

Question Number : 172 Question 1d : 9983679231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e Bf g4 T QU e T v 37 3l
STt &t STOT T@ aTeTl

Options:
1. = m.—
2. * JATHIGT

3. v Ng
4, = ST

Question Number : 172 Question Id : 9983679231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 oo W oA S QU ereq IaAT HT 37T B

SiTcdel Rl SToT {@el aTelT|

Options:

1. = 3«HlG
2.« 3R
3. oy
4. « Forafrer

Question Number : 173 Question Id : 9983679232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T&Q Mq Sredt # & TET e+t &l |

Options:

1. v S[EEIATYAT
2. % JITEU-T
3. * ITAFATIT

4, & 3TATEATYA]

Question Number : 173 Question Id : 9983679232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R e eret # ¥ WE A F T

Options:

1. v ITATIA]

2. % a9l
3. » 3ATIAT
4.

#  FATEATYA]

Question Number : 174 Question Id : 9983679233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 e & I+ AT 1T MY Aec; Bl AT gl

Options:

1. * el
2. ¢ T
3. # ThlHell

4, = T[TSH

Question Number : 174 Question Id : 9983679233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 %S F oA S eV A0 oreE FT wAIARIT B

Hed

Options:

1. = el

2. v 3ddre
3. = Il
4. = GISH

Question Number : 175 Question 1d : 9983679234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e B T ST TEY M e Bl el gl

Options:

1. v 3ragt
2. % ST
3. = AT
4. « forq



Question Number : 175 Question 1d : 9983679234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m%maﬁgﬁa’r%@dw eTec, T QA &

R

Options:

1. v 3aU@r
2. % odd
3. = AT
4. = faarq

Question Number : 176 Question Id : 9983679235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e B A AT QU MY 9ree; BT AT T51 3

Options:

1. = 3myuor
2. % S

3. = Tenqumr

4., & o=l

Question Number : 176 Question Id : 9983679235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

36 o5 W ol S QU A0 ersq 1 FaATATdT 7E

Options:

1. = 3Taqeor
2. 9a<
3. = [aawor

o,

4. v oloall

Question Number : 177 Question 1d : 9983679236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T a1 ek TAT & T 18AT 7147 3, NI 3UYeh e ¥ WEH gl 98!

[ "
[dhed -l

T ToI<eT T ZA i & [QgTa-i & dal T8 BT &l

Options:

1. » dHACT
2. % AT
3. v dgied
4. » qoag

Question Number : 177 Question Id : 9983679236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk arerg R TUTe & @rer e g g, o SugeRd erse |
IS &1 TET Ao el |

Uk TIET A &GRS Alat & Bgrgar & &er fEs
gl gl

1p.w'£m?ﬁ

2. * 3HT
3. v SgHeA
4. = HeIgld

Question Number : 178 Question Id : 9983679237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Qe g+ ST TEU WY Sredy T gt v gl
& M T

Options:

1. » Tdorg IR T



2. v TRIS 3R e
3. * ¢ 3R e
4, % T¢H IR e

Question Number : 178 Question Id : 9983679237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3aT ereel AT Yol ST foU 910 ersey T F@Er 379 g

e AT fea

Options:

1. = fgog 3T W
2. v N 33X Raw
3. » glad HN W
4, » g8 3T W

Question Number : 179 Question Id : 9983679238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e Bf I AT 1T MY A BT gl JTH SATdT 3l
STTerT — {2

Options:

1. v Tgaarde

2. % FRIH — FRd®
3. = rdd — FIH
4.« g

Question Number : 179 Question Id : 9983679238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 96 HT Iol ST fA€ AT ere@r F WET TIA ST &

SiTdel - AIO]

Options:

1. v Tudards

2. » Tk - folxdeh
3. = @Ik - foldw
4, = 9O

Question Number : 180 Question Id : 9983679239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e, B g+ AT TEW MY &) BT JgI I SLATaT 3l

ol&l - oI&d

Options:

1. % TTST — YU
2. % gHg — U]

3. v o9 — 32T
4, » 3297 — GgA

Question Number : 180 Question Id : 9983679239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 s I el ST feV a0 ereal T HEr oA AT &

elal - of&

Options:

1. = 38T - 3Teqyor

2. = HHg - cl
3. v ofl@ - 3827



4. = 32T - HEET

General Hindi2

Group Number : 10
Group Id : 998367406
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?

Section Id : 998367412

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367579
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983679240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 IeC, i g ST 18U MY e, §Yg @ eiq ST gl

A ad=T U= Tl

Options:

1. * PHddaAT
2. % d-TEcITg A

3. v 3reuddd 9T




4, = T

Question Number : 181 Question 1d : 9983679240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 e R oA St QU A0 ers dAHg K AU 3ugFT B

FH Adel Ul dTelm

Options:

1. = FHAITA]

2. % dd&dlg hHA
3. v 3cudde HIEN
4, % IS

Question Number : 182 Question Id : 9983679241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TP ST 15k T & 1Y 1T 7T 3, N9 IULeh g ¥ 9T 2l Fal

[ "
[dhed <l

IT-deT gur Y I ST @l 3

Options:

1. = Gar&m
2. v o

3. % 3d
4. = &

Question Number : 182 Question Id : 9983679241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Ueh AT ekl AT & @Ter 3 arm g, S 3ugerd o |
HET g1 Tl fahed Ia|

MToT-Fel gar #T gidr ST & &

Options:

1. = JAT&T
2.&?@

3. = g
4, = &

o

Question Number : 183 Question Id : 9983679242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl # ¥ S arad & ad Dyl

Options:

1. * g TS & T 3l
2. * Og TS oI« AT gl
3. v 9§ <US U= A7 3l
4. g8 TS A AT 3

Question Number : 183 Question Id : 9983679242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGESIGIEC R ) A ATFT FT T Fiaw]

Options:

1. » dg TUS & AT &l

2. » O8 GUS olel AT g
3. v dg TUS Ula I &
4. = 9§ GUS ol AT g

Question Number : 184 Question Id : 9983679243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




39 e Bl g ST 1T T 96 Pl Fger gl

Elz]

Options:

Question Number : 184 Question Id : 9983679243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 g T ol SN foW A ereq T dgaHe ¢

IBIESI

Options:

1. v Rf==T
2. = Rafsan
3. » Fafgamsit
4, = T AT

Question Number : 185 Question 1d : 9983679244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mglelied & ¥ g arad ot gl

Options:

1. * 39 U AT DT R G
2. v TFEI0 TSt # Tohas ot g7
3. * 3Pl AGR A< -Tg! 2l

4. % ¥ UG T <ITATH AT Zl

Question Number : 185 Question Id : 9983679244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafaa & & e g & 4|

1. % 3Jel Tk AT T X T1IET
2. v qFeRl g3 A forcet st 87
3. = 3olchl TIGER <o ool gl

4. « ¥ Uga KT IIITH HIdl ﬁwl

Question Number : 186 Question Id : 9983679245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT aTed T Fgl ared g1
&0y Tha™T UGT SATdT 3l

Options:

1. v djard
2. % PHATY
3. = YTaRy

4. « € ¥t Riowe o TG

Question Number : 186 Question Id : 9983679245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl &d T hT Hal arerd yﬁl

gAY TohdaT 9er SATAT &l

Options:

1. v Sqard
2. = hAATT
3. = HATgar<d

4. » PI5 # TdheT TET ool &

Question Number : 187 Question Id : 9983679246 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

MaTeirad & O T arerar & TR G AT dlel H 372

Options:

1. * 3G Wel T T 2

2. v ¥ qFERT UT UG T E
3. * 3D TelsTell DI 3T
4, = el o 31T dTet 1

Question Number : 187 Question 1d : 9983679246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIfelEaT A 8 forg g A TohIT adATd el H &7

Options:

1. % 3T Bol TT ol o

2. v # JFERT U UE @ g‘”l
3. % 3<Taleh TdeTell sl 38T
4. % el @ 3eT aTor 2

Question Number : 188 Question Id : 9983679247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 AT B AT ST U T T AT et ITUR ¥ 3l

S A AT g 2

Options:

1. v ST Bie BT EATT HT P 3l

2. % GIPIAL Die T EATT DT ATl

3. * GBI Did ST gidT & 39dT GUHI GFTT B gl
4, % PO Pick o FEATAT THT P gl

Question Number : 188 Question Id : 9983679247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




39 areFd H el it f4u A fAfST are T @rarer 9 g

ST hid Slep o BT &

Options:

1. v SR FA FT GFEATT THT T &1
2. % GlIhIUT hid T GFHATA HlaT ANZT
3. = NRIUT hid SN AT & 3GRT THT TFATT Rl &
4. = GNRIUA Hid Rl FFATAd THN Fd Bl

Question Number : 189 Question Id : 9983679248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myt ara &1 gt el g
S gl

Options:

1. v I DTl
2. % GABIA
3. % qatddre]

4, * JUH TH

Question Number : 189 Question 1d : 9983679248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GGG RCIER EED Hé’rm?lﬁl

qA ST W@

Options:

1. v TdHTe kel

2. ® #dhlel

o,

3. % TTaSd<hTal




4. % 3UFT AT

Question Number : 190 Question Id : 9983679249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

My AT qa U& PT 3¢Igeur 1

Options:

1. * ¥ SR UG &l
2. = ¥ @A UG
3. v 89 319 US|
4. » ¥ 3r9ER UG G &

Question Number : 190 Question Id : 9983679249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraATlEIT qg 987 T 32T80T Iad|

Options:

1. = & TEER gl g‘”l

2. = ¥ 3TN TSI

3. v Ha 37EE YT

4. » # IR Ug & ﬁl

Question Number : 191 Question 1d : 9983679250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U I [dded] # 9, 39 Tddmed @ Tdq & Sl e U
T qgTor & 31 ol AYS & & ek BT 3l

3T # G IAAT

1. SR g

2. # TOATSr AT

3. = AT § 3TUCT, PgT

4. v e ¥ 3ITG-Yg oTel giT



Question Number : 191 Question Id : 9983679250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g wed H, U a7 I) [Aeheul H &, 39 AFheq &I
Tl hi oif fEU Ia agsml o 379 hl TIATS T T ol
FIAT Bl

SIECINE:] el 3cel

Options:

1. = SIAR gle

2. = TdetTer e

3. = T H 37T Fgall

4. v FreT H 31Te_c.l-a_-1'5 ool el

Question Number : 192 Question 1d : 9983679251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2z TWTE 3 EFY 1St b diter ey TR PRI T W T 2

Options:

1. » TR =g
2. v ANH g
3. = 3w
4. % JeUTTH

Question Number : 192 Question Id : 9983679251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ddecd HA o Glal Ual & s Tohd OUH g &1 w6 giar
&7

Options:

1. » A e
2. v etk [g
3. » TIR™TH




4. % eUaH

Question Number : 193 Question Id : 9983679252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tehd s # TaTH Teig ol Sfeh U TGl §aiT g7

1. = St gT, & oY <req

2. % STy YT gl AT g

3. v 9Tg, 3MTU= al BHTE P ¢TI

4, » W @M1 GTd U FAT-FIT g1 BT AU ?

Question Number : 193 Question Id : 9983679252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer shar # fawrar g 1 Sk waT wTET gam &2

Options:

1. = ST &f, & &7 =opr|

2. = TRy T B 9T g

3. v T8, 39 dr FATST HT 2T

4, » FH TAT TTd TAT FAT-FAT TaT] hlall ANgT?

Question Number : 194 Question 1d : 9983679253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U I [dded] # 9, 39 Tddmed @ Tdq & Sl e U
T qgTor & 31 ol AYS & & ek BT 3l

e B NG Pt g

Options:

1. * ST TTEH § ST
2. v 98 DI BUDP gl [T AT Thd
3. * JUS Aich i T
4. = TendiT T ereq Tordt SEL Y &




Question Number : 194 Question Id : 9983679253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g wed H, U a7 I) [Aeheul H &, 39 AFheq &I
Tl hi oif fEU Ia agsml o 379 hl TIATS T T ol
FIAT Bl

e 4y fgy gy

Options:

1. % STeT SIEH H STolall

2. v 98 #IH 9T A8l T AT Hehd
3. » 3805 gTFd hI Ts&dm

4. « fordr 1 aeq fondr gE¥ @1 e

Question Number : 195 Question 1d : 9983679254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT MY g & ferg SR T g @ gl

dTolh Thol & el T

Options:

1. =,
2.v7?
3. =1
4. % |

Question Number : 195 Question 1d : 9983679254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv arer & forv 3R oo g & <=

SToleh Thel e =T

Options:



2. v 7

3 % |

4- w |
Sub-Section Number: 2
Sub-Section Id: 998367580
Question Shuffling Allowed : Yes

Question Id : 9983679255 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension

AT AT TENeT @ eIMYe® Te 3R T MY 7% & 3R |

[ DT UGN 6§ & Giel 3 GedT ST T Teb hitdentat e I 4
dht IS AT AT § 31T 3R T3 & SMiathRl & Jod HET STl 3l

T gt T=aT @ 7 AT 3R TUR 3T 3/a<AT Bl (gl Toig AT ERT e oY
AT 9T § Ueh Wl JUelieds gl 3iehl & ST § 7 AgT TIT T@dT g
UTHTULSIT & HIGT @I LT Tl LT Dl Agcaqui JUANT TATHIT AT T
h & H g3 TATT A 07 37 g g Tch 37eh l WHT I&eh T T 3T
gl &% 3R F 13 3R ST U 3k BT AT F-&F AT dadT gl i g4t
Tl Bl Hell YA UAT gl SHY TUE g Tdh Tehdl §EAT h I3 3R LI
oI & I TTIT o I3 31 Y7 o & I HEIT ol 71 &8 AT §T
ST, TEITU I8 T8 3 LT W@ § GTAT-HTE H hls HTer g1 TSl
g I8 SIS, & GoT SIET! Well T 3 Hha? Iie Thdl =a1 § =g st ar
HEIT ST <l T T 3N TehdT §&AT § I T W | G&AT-A # Dlg
TiREd gl MY T HT - T Hged ST 3ITEd g T Tcdeh MUT Pl
ol T gl ST g1 (AT hl HUSI-IET I FEITIIT & T § FgHIh
I 3T TelAT el HY FETAT Y TgT gl

Sub questions




Question Number : 196 Question Id : 9983679256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[~ T Ageaqul IUANT fchdich &7 H Far?

Options:

1. = T8 99

2. % Yol Bl AT
3. v TYMIT-A gl
4, « Gol Golel

Question Number : 197 Question Id : 9983679257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ent o ST # I DI Tehdeh 4T TIT 872

Options:

1. » HIET 791 & ST

2. % TTHTU] o & ST

3. v UTHTY ch Wi & YT Tof S1ET
4, % 3N AT ST

Question Number : 198 Question Id : 9983679258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘IATLE P PRISI-IRAT ht GEATAT Bl TUFET & 0 g

1.  art Y e
2. gt Bt e
3. v qodt & afafer B 8 B Mt
4. « TR B T

Question Number : 199 Question Id : 9983679259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T GIST A ST # Thdleh TEShT Jord AT STl g?

Options:

1. * ®UIT &
2. % G h
3.v AT TURTD




4, » TS &

Question Number : 200 Question 1d : 9983679260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SURIh TEITSr @ I e di I7 3:

Options:

1. v = P TR
2. * AT i TOET
3. ® [ DT JAGR

4. % = h oI o gIiv

Question Id : 9983679255 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension




fFaTlad reamer 1 «Ueyas ¢ 3R G0 a0 veaT & 3eal &
|

T FT YT AGST F Al 3R T AT FT UFR FITARRT
FEH AT g HT Tl A STae H 37Ee 3T 9igd &
MAShRT F Jed ATell ST &1 TRET FEIT FT o glalm 3T T
39 7A€ Hi Fhar g @ ganr sued T dar foeasr g
Teh HGlel 3Tellse 1 37! & ST H ed Jal TATT I&AT §
ST ORATOIST & TR T e TUel| Yod hT AGcaqor SUTar
Fm?ﬁtrm?rﬁaiﬁa?mﬁgaﬂl TATT AT T 37T I § TF
3R hT HTIT 3Tk TATA W TR g1 a5 3 & a8 30T e
UL 3R FT ATl S-S Il S g1 ford el faeantdar i
Holl Th Tl &1 388 Fsc § o Tondl TCAT & a8 31N ¢
olaTlel & 36 HEAT & &5 AN e oellel & 38 HEAT T HAlel
e T & SV, JeIMT 38 5 3N Yed W & TEAT-AT
H $Ig THTT I81 TS| § IE SIG. o Tl ST Holl T 3N
Fa? fg FrET T&AT # T SIS dF GEAT <47 AT af A
3R TRl §&AT H e Ol W AT EAT-ATT H HI5 Iddel
oTal Vel TR 8 e T Agcd S 3T g T ucdh
INUTAT T Hel TT &1 ST &1 ANET T HUS-3ET T
FEITHT T 0T H G e 3MeT Trarer Hr i ggradr
L T&T &l

Sub questions

Question Number : 196 Question Id : 9983679256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T HAGcAYOT 3UANT fohdsh §7 H g3T?




Options:

1. » 48 fea

2. % U I AT
3. v TIEHI-ATT &
4. » Tel Tela

Question Number : 197 Question Id : 9983679257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T o ST H e T Tordeh ST FUTT &7

Options:

1. = ST9T@TeT TOIF & ST

2. « UTAIV] A & SiHm
S.JWTUEQ?W?QFFWG’WT
4. * 3707 Sellel SHET

Question Number : 198 Question Id : 9983679258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ANE hr FUS-3TET hl GEIAT3 T A0TAT & 9T &

1. » dRT Fr Fradr
2. = AT FT Frerar
3. v gdr § FaRer 1 gt Fr FIdeln
4. = Tehe T Fear

Question Number : 199 Question Id : 9983679259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A R WSl Aleld 3fcgrd A fohaesh Afash Jod AT ST

Options:




1. = ®IT &

2. = Tl &

3. v 33 @ Ufgv &
4. % JoM@MET &

Question Number : 200 Question Id : 9983679260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YNk 9EgTer T 3d oSk il @1 &

Options:

1. v T FT MICFHR
2. = 3T =T I0TAT
3. * Yo I =YdER

4. = T & ATH T Blial




